T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10101 #&#R1-1 K¢ 200 H1. 10

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 EHIERRUINT TAT77 VMRS SR G T =52 1 = R AR B I B =2%2+0
15emZ 8 2 30cmPA T " 4.000 m
7 BEERIGIRAL A TR K AL Bl = (Bl EEAE B4 I+ AL+ IR *0. 023+
b 0.018 m3 &%= (2%2+0)*0. 023%0. 2
8 EHEERNAAE TATZ7AMMEREERR PR A SRR A T =1 BexE + I AN HL=2%0. 75+0
BRI ABE 15emA R 2 40cmPA T % 1.500 m2
9 EEERRPURLADA BHO.20m3 ELERNA T=AE S+ RN B =250, 75+0
SHEEIE10em LA T ® 1.500 m2
10 ‘FHEHI BHO0.20m3 JEHE] TH1=JE R+ tg+ =20, 75%1. 22
% 1.830 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
% 0.375 m3 0.75%0.2%5
12 B R (kg ) BHO0.20m3 R TUI=HE R #E+{E=2%0. 75%0. 72
Iyioay bR % 1.080 m3
13 E LA (Fehk &) BHO.20m3 H B T UQ=4E i T2 =2%0. 75%0. 3
RC-40HL & + & 7 5 [E % 0.450 m3
14 BRI (A AL BHO.20m3 MR TUS=HE S+ +R=2x%0. T5%0. 3
M-408R & + & o7 S [E D % 0.450 m3
15 EEERE (R R) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{&5 Frsk=0. 5%
Iyay R % 0.375 m3 0.75%0.2%5
16 ERRHLE (AR 52) BHO.20m3 BB PERR CRTR i) =HE R+ T T A =—1%2%0. 038
Iyioay bR % -0.076 m3
17  EERBEIEMLEL As BEAA ALy (R HIED) =Rl i Fk /R X =1. 5%0. 2
% 0.300 m3
18 FERFEIEMLIEE As BERT ALY (AR IR) =ik Al S =1. 5%0. 1
% 0.150 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R+ /R X =1. 5%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.300 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTEM (A5 1R) =M fdi /2 S =1. 5%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.150 m3
21 %4 +1EHE BH0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) - 545 =1. 83
+# 1.0kmLL T DIDA 7% 2.205 m3 +0+0.375+00
22 EfdE T (FEE-#JF) 5cm2)E (10cm) IAE 1B =FE FoHlg + I AR TN =2%0. 75+0
B+ T TA L & 1.500 m2
23 Af%ET (BE-HJE) 5cm2/E (10cm) AAE |H=1E FH g+ I AR I H=2%0. 75+0
HEA T+ AT & 1.500 m2
24 BB T (HOE-HH) i8S 1 4moAR ARAE |H=FE FoHlg + AR N R =2%0. 75+0
BHAREZELBRKEEMS 4 & 1.500 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10102 BHE1-1 GX ¢ 200 HL. 10 Wi A

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAA X 1.=L=26
6 200 1% 26.000 m
9 RYZFLLRAY—T BT EPiRT=1=26
6 200 % 26.000 m
3 R EWRT—T7 L R T=1=26
6 200 1% 26.000 m
4 Rk —MAR L BIHRL=1=26
% 26.000 m
5 A —h AR T=1=26
150mm X 50m & 2fZ 410 iAFx ® 26.000 m
6 EKEER B ER=1-26
% 26.000 m
7 GHEERREINT T AT 7 VMR SRAEY) B T =525 9T B B« ARSI =26%2+0
15em%#8.2 30cm L T 1% 52.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
% 0.239 m3 &hTE[E=(26%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AEERE A T = BB + T A N =26%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 15. 600 m2
10 AHEEAREUELFSHA BH0.20m3 SRS A T =1 B &+ AN H=26%0. 6+0
SEE10emPA T & 15.600 m2
11 EFK4EHE] BHO0.20m3 PR THI=ZE F+ g +E=26%0. 6%1. 22
% 19.032 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.480 m3 0.6%0. 2%8
13 ERME (B RE) BH0.20m3 P B T U1 =4E 55 1ZE=26%0. 6%0. 72
Iyay R % 11.232 m3
14 B RE (kg ) BH0.20m3 R TU2=FE R #1iEg+72=26%0. 6%0. 3
RC-40H R + & L\ [ 6D & 4,680 m3
15 ‘ERMEE (B RE) BH0.20m3 P B T US=ZE Rkl 48=26%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 4.680 m3
16 B RE (kg ) BH0.20m3 AT (KT - J50) =JE R A LeiEWa*iZE A H+ & FT$=0. 5%
7vvar AR & 0.480 m3 0.6%0.2%8
17 EEERE BHER) BH0.20m3 PR RAZERR (HaR ) =4 o W i Al =— 1%26%0. 038
Iyay R 7% -0.988 m3
18 TEFRFEIEME As BERA LSy (BEHIFR) =Rl A i FEe /5. X =15. 6%0. 2
% 3.120 m3
19 EERBEIEMMEL As BEA ALy (A5 1H) =Rl F 5 X =15. 6%0. 1
% 1.560 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERE My (PR D) =l i+ /& < =15. 6%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 3.120 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A8 1) =Rl F+ 5 X =15. 6%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 1.560 m3
29 FEA+IEM; BH0.20m3 DTr4t B B Me=H1 57 +H2 23 HiE T8 4 (S +HAlm) - #i B4 =19. 0
+# 1.0kmEL T DIDH % 19.512 m3 32+0+0. 48+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS B = S IE + I AR N 5H=26%0. 6+0
HEET+FHHTT7A45 & 15. 600 m2
24  EHEET (HE - FEJE) 5cm2/E (10cm) ARAE |H=FE FoHlg + I AE N H=26%0. 6+0
gL+ AT & 15.600 m2
25 LJERART (HOE- ) iR B AmA ARG IA=HE S+ + [ AR N 5 =26%0. 6+0
AR 2R (L B % 15.600 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10103 B&HE1-1 GX ¢ 150 H1. 10 WrmB

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgEX 1.=L=10
® 150 1% 10.000 m
9 RYZFLLRAY—T BT B T=L=10
é 150 % 10.000 m
3 R EWRT—T7 L B R T=L=10
® 150 1% 10.000 m
4 Rk —MAR L IR L=L=10
% 10.000 m
5 A —h AR T=L=10
150mm X 50m & 2fZ 410 iAFx ® 10.000 m
6 EKEER BAHER=L=10
% 10.000 m
7 GHEERREINT T AT 7 VMR SRAEY) B T =525 9T B B« AR SN =10%2+0
15em%#8.2 30cm L T 1% 20.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.092 m3 &hEEE=(10%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AEERE A T =1 BB + T AN =10%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 6.000 m2
10 AHEEAREUELFSHA BH0.20m3 SRR A T =1 FexE +E AN H=10%0. 6+0
SEE10emPA T & 6.000 m2
11 EFK4EHE] BHO0.20m3 P THI=ZE R+ g *2=10%0. 6%1. 17
% 7.020 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.480 m3 0.6%0. 2%8
13 ERME (B RE) BH0.20m3 H B T U1 =4E 55 7ZE=10%0. 6%0. 67
Iyay R 7% 4,020 m3
14 B RE (kg ) BH0.20m3 R TU2=E R #1ig+%2=10%0. 6%0. 3
RC-40H R + & L\ [ 6D & 1.800 m3
15 ‘ERMEE (B RE) BH0.20m3 P B T US=ZE FeslE#8=10%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 1.800 m3
16 B RE (kg ) BH0.20m3 AT (KT - J50) =JE R A LeiEWa*iZE A H+ & FT$=0. 5%
7vvar AR & 0.480 m3 0.6%0.2%8
17 EEERE BHER) BH0.20m3 PR RRAZERR CHaR ) =4 o & Wi Al =— 1% 10%0. 022
Iyay R 7% -0.220 m3
18 TEFRFEIEME As BERA ALy (BEHITR) =Rl A i FEk /5 X =6%0. 2
% 1.200 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =i F 5 & =6%0. 1
% 0.600 m3
20 PEFSALVEEYEHE BHO0.20m3 DTr4t BEMA TE R (PR ANER) = A= X =6%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 1.200 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 5 X =6%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.600 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 B HA ) — 2545 =7. 02
+# 1.0kmEL T DIDH 7% 7.500 m3 +0+0.48+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS 1B =JE S E+ I AR I H=10%0. 6+0
HEET+FHHTT7A45 & 6.000 m2
24  EHEET (HE - FEJE) 5cm2/E (10cm) ARAE |H=1E FHlg + I AE N H=10%0. 6+0
gL+ AT & 6.000 m2
25 LJERART (HOE- ) iR B AmA ARG IA=AE S+ + RN 5=10%0. 6+0
AR 2R (L B & 6.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[H 10104

B#1-1 GX ¢ 150 HI. 55 KrmB

NO b4,/ 3i#s -~k B g HAL EHEKX
1 SRSREAA R L A SR (B ) DIPAAgER 1.=L=2
6 150 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
$ 150 % 2.000 m
3 #EEE BT —7 L EW/RT=1=2
6 150 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
b Amae—h R T =1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =242+0
15emZ B 2.30cmlA T % 4.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
% 0.018 m3 EZEE=(2%2+0)*0. 023%0. 2
9 EHEERRAEAE TAT7AMMEEERR PEESE AL T = BB + T A N =2%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*ME*E=2%0. 6%1. 62
% 1.944 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 R T (RS R R A - Bk ) R T T=ERE=2
1.8m<HBHIE=<2.0m ~'v/ivs|k & 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=AE Exg*%E=2%0. 6%0. 67
Iyiay bR 7% 0.804 m3
15 ERME (B RE) BH0.20m3 R T U2=4E - # 5+ E=2%0. 6%0. 45
RC-40#L & + & 7 5 E 7% 0.540 m3
16 B R (kg ) BHO0.20m3 R TUS=4E F#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
17 ERME (B RE) BH0.20m3 P B T U4=4EE 5+ 7E=2%0. 6%0. 3
M-40H & + 2> 55 [E 6 7% 0.360 m3
18 B R (ki ) BHO0.20m3 AT (R - J50) =JE R A LeiEWa*iZE A H+ & FT#=0. 5%
7yvar AR R & 0.120 m3 0.6%0.2%2
19  EEERE BHER) BH0.20m3 RGN GHTRR A ) =4 B8 Wi i FE=—1%2%0. 022
Iyay R 7% -0.044 m3
20 FERRBEIEMALE As BERA LSy (BEHITD) =Rl A Rk /S X =1. 2%0. 2
% 0.240 m3
21 EFRBEFEMALEE As B AL S5 (S 1R =Rl Ak F+ 5 X =1. 2%0. 1
% 0.120 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERA T (PR 1) =Rl A Rk /S X =1. 2%0. 2
As3lL - CoBll (4#4%) 1.0kn2L F DIDF & 0.240 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
24 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RI ) — 574 =1. 94
+# 1.0kmEL T DIDH 7% 2.064 m3 4+0+0. 12+00
25 Ef%ET (BE - HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N =2%0. 6+0
HEE7+FHHTT7145 & 1.200 m2
26 EfidE T (FEE - #J8) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N A =2%0. 6+0
gL+ AT *® 1.200 m2
27 LIRS T (HOE- ) iR B 1L 4mA ARG IA=HE S+ + RN 5=2+%0. 6+0
FEES 2 EANEKARNS L LS & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10105 B#E1-1 GX ¢ 75 HO.85 WrmC

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAgER 1.=L=3
o 1500 %" 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
& T5LLF % 3.000 m
3 R EWRT—T7 L IR I=1=3
675 1% 3.000 m
4 Rk —MAR L B R T=1=3
% 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx ® 3.000 m
6 IEKEER E/KERER=1=3
% 3.000 m
7 GHEERREINT T AT 7 VMR SHAEY) W T =525 0T B B« ARSI B =3%2+0
15emZ B 2.30cmlA T % 6.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4R I+ AR+ I BRD) *0. 023%
% 0.028 m3 EEEE=(3%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =3%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + I AN H=3%0. 6+0
AR 10em L T % 1.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=AE FexgE*i=3%0. 6%0. 84
% 1.512 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 EEERE (WHER) BH0.20m3 R T U 1= 4E R+ *1E=3%0. 6%0. 34
7yiar AR ¥i 0.612 m3
14 BRI (A AL BHO.20m3 M PR TU2=HE R 7R=3%0. 60. 3
RC-40H R + & L\ [ 6D & 0.540 m3
15 ‘ERHLR (B EZ) BHO.20m3 PR B T US=%E FeslE#78=3%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 0.540 m3
16 ISR (MR &) BH0.20m3 PREE T (kR4 - JEE50) =JE R A LoiEWasiZE A H+ {5 Frk=0. 5%
7vvar AR & 0.120 m3 0.6%0.2%2
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o W i Al =— 1%3%0. 007
7yiar AR %" -0.021 m3
18 THEEXBETEMALER As BERA LSy (BRI =Rl A i FEk /S X =1. 8%0. 2
% 0.360 m3
19  ERPEFEWALIL As FEM LSS (RAE R =l e i fie /5 S =1. 8%0. 1
% 0.180 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (B HIED) = mm A+ R X =1. 8%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.360 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 X =1. 8%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.180 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ 40 45 (B +RI ) — 5% =1. 51
+# 1.0kmEL T DIDH 7% 1.632 m3 2+0+0.12+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N5 =3%0. 6+0
HEET+FHHTT7A45 & 1.800 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N =3%0. 6+0
gL+ AT & 1.800 m2
25 LJERART (HOE- ) iR B AmA A IA=HE S+ + [ RN 5=3+%0. 6+0
AR 2R (L B & 1.800 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[H 10106

Bii1-1 G X ¢ 75 HO. 80 WrifDHx

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAGER L.=L=17
O TS5 T % 17.000 m
9 RYZFLLRAY—T BT EHRT=L=17
¢ T5LL T % 17.000 m
3 R EWRT—T7 L R T=L=17
675 1% 17.000 m
4 Rk —MAR L IR L=L=17
% 17.000 m
5 A —h AR T=1=17
150mm X 50m & 2fZ 410 iAFx ® 17.000 m
6 EKEER BAKRER=L=17
% 17.000 m
7 GHEERREINT T AT 7 VMR SRAEY) B T =525 9T B B« ARSI =17%2+0
15ecmPA T % 34.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 40 I+ AR+ I BRD) *0. 023%
% 0.039 m3 &%= (17%2+0)*0. 023*0. 05
9 EEERRPURLADA BHO.20m3 SR T=AE S g+ RN B =17%0. 6+0
SHEEIE10em LA T ® 10.200 m2
10 AHEEAREUELFSHA BH0.20m3 SRR T =1 BexlE +E AN F=17%0. 6+0
AR 10em L T % 10.200 m2
11 EFK4EHE] BHO0.20m3 PEH| THI=2E K+ g +E=17%0. 6%0. 94
% 9.588 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
% 0.840 m3 0.6%0.2%14
13 EEERE (WHER) BH0.20m3 R T U= 4E E+F*E=17%0. 6%0. 59
ryioay R LR % 6.018 m3
14 B RE (kg ) BH0.20m3 IR TUS=AE g +i%8=17%0. 6%0. 1
RC-40H R + & L\ [ 6D & 1.020 m3
15 EEIERE (R RE) BH0.20m3 R T UA=4E Re+F*E=17%0. 6%0. 27
RC-40#L & + & 7 5 E 7% 2.754 m3
16 B RE (kg ) BH0.20m3 AT (R - J50) =JE R A LxiEWa*iZE A H+ & FT4=0. 5%
7vvar AR & 0.840 m3 0.6%0.2%14
17 EEERE BHER) BH0.20m3 PR RRAZERR CHaR ) =4 o & Wi Al =— 1% 1 7%0. 007
ryioay R LR % -0.119 m3
18 TEFRFEIEME As BEM ALY (HREIES) =R i f 5 £ =10. 2%0. 05
% 0.510 m3
19 EERBEIEMMEL As BERT ALy (AR B) =k i AE*JE X =10. 2*0. 03
% 0.306 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ R X =10. 2*0. 05
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.510 m3
21 FEFEAPLERE BH0.20m3 DTr4t BERS T (AE 1H) =ik R+ R X =10. 2%0. 03
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.306 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 5575 =9. 58
17 1.0kmEL F DIDA % 10.428 m3 8+0+0. 84+00
23 AREET (BEE-HJE) 3cml IS 1B =JE S g+ I AR I H=17%0. 6+0
FAEBRIEAs 744 7% 10. 200 m2
24  EHEET (HE - BJE) SemlfE ARAE |H=FE FHlg + A N H=17%0. 6+0
HEBRIEAs 7 T7145 7% 10.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[# 10151 B&#R1-1+BP -

FESHASHL. 6%L1. 0 *W1. 2
B

NO b4,/ 3i#s -~k w g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi %k T=L=1
6 200 1% 1.000 m
9 RYZFLLRAY—T BT EHiRTIAL=]
6 200 % 1.000 m
3 #EE BT —7 L EI/RT=L=1
6 200 1% 1.000 m
4 FER—MR T EHR T=L=1
% 1.000 m
5 A —h AR T=L=1
150mm X 50m & 2fZ 410 iAFx ® 1.000 m
6 EHIERRUINT TAT77 VMRS SRR T T =Hl 2 0 R PR A B N B = 1%2+2. 4
15emZ 8 2 30cmPA T " 4.400 m
7 BEERIGIRAL AR TR K AL BR= (Bl EEAE B4 I+ AL+ I D) *0. 023+
b 0.020 m3 EEEE=(1%2+2. 4)%0. 023%0. 2
8 EHILRRANAE TAT7AMGREERN FEESIE SRR A T =1 BB+ AN F =11, 2+0
BRI ABE 15emA R 2 40cmPA T % 1.200 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB+ I N F =1%1. 2+0
AHEEE10emPA T ® 1.200 m2
10 KL ab HBEFKHY JEHE] TH1=JE Fe*ig+E=1%1. 2*%0. 768
A & 0.922 m3
11 EFK4EHE] BHO0.20m3 PEHI CH2=FEEksiZi=1%1. 2%1. 152
% 1.382 m3
12 R OB RO O - #ehl it 1) Rz TR T=fERE=1
2.0m<HBHIE=<2.3m N'v/kys|k ® 1.000 m
13 B E (BEARHE &) BHO0.20m3 P T U1 =4 e sligsie=1%1. 2%0. 92
Iyay R 7% 1.104 m3
14 B RE (kg ) BH0.20m3 PR TU2=4E F*E*4E=1%1. 2%0. 5
RC-40H R + & L\ [ 6D & 0.600 m3
15 &SRR (BEARHE &) BHO0.20m3 P 5T T US=4EJsligsie=1%1. 2%0. 3
RC-40#L & + & 7 5 E 7% 0.360 m3
16 B R (kg ) BH0.20m3 PR TUA=E Fo*gHgE=1%1. 2%0. 3
M—403 B2+ 2 S5 [E 6 7% 0.360 m3
17 EEERE BHER) BH0.20m3 RGN IR ) =1L B8 Wrmm g =—1%1%0. 038
Iyay R 7% -0.038 m3
18 TEFRFEIEME As BERA LSy (BEHITD) =Rl A i FEk S X =1. 2%0. 2
% 0.240 m3
19  ERPEFEWALIL As B AL S5 (S R =Rl Ak Fi+ . X =1. 2%0. 1
% 0.120 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PR 1) =Rl A Rk /S X =1. 2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.240 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 B HA ) 5245 =0. 92
+# 1.0kmEL T DIDH 7% 2.304 m3 2+1.382+0+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) A 1B =E FHiE+ AR IR =1%1. 2+0
HEET+FHHTT7A45 & 1.200 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=4E FoH+lg + AR IR =1%1. 2+0
gL+ AT & 1.200 m2
25 LJERART (HOE- ) iR B AmA AE IA=FER g RN B =1%1. 2+0
AR 2R (L B & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10201 B&HR1-2 GX ¢ 150 HL. 10 WrmB

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
® 150 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
é 150 % 2.000 m
3 #EEE BT —7 L EW/RT=1=2
® 150 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emZ B 2.30cmlA T % 4.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
% 0.018 m3 EZEE=(2%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =2%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PEHI CH1=ZE R Es58=2%0. 6%1. 17
% 1.404 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 ERME (B RE) BH0.20m3 PR B T U1=%E R sl 8=2%0. 6%0. 67
Iyay R 7% 0.804 m3
14 B RE (kg ) BH0.20m3 R TU2=4E F-#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
15 ‘ERMEE (B RE) BH0.20m3 PR B T US=%E FeslE#78=2%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 0.360 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT4=0. 5%
7vvar AR & 0.120 m3 0.6%0.2%2
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R 7% -0.044 m3
18 TEFRFEIEME As BERA LSy (BEHITD) =Rl A i FEk S X =1. 2%0. 2
% 0.240 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =Rl Fe 8 S =1. 2+%0. 1
% 0.120 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (FRHIED) = mm A+ R X =1. 2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.240 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) — 3574 =1. 40
+# 1.0kmEL T DIDH 7% 1.524 m3 4+0+0. 12+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) A B =AE S IE + I AR N5 =2%0. 6+0
HEET+FHHTT7A45 & 1.200 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N A =2%0. 6+0
gL+ AT & 1.200 m2
25 LJERART (HOE- ) iR B AmA ARG IA=HE S+ + RN 5i=2+0. 6+0
AR 2R (L B & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10202 #&#R1-2 K¢ 150 H1. 10

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 150 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
$ 150 % 2.000 m
3 #EEE BT —7 L EW/RT=1=2
6 150 1% 2.000 m
4 B —MiRT WAL=
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 EHIERRUINT TAT77 VMRS SR G T =52 1 = R AR B I B =2%2+0
15emZ 8 2 30cmPA T " 4.000 m
7 BEERIGIRAL A TR K AL Bl = (Bl EEAE B4 I+ AL+ IR *0. 023+
b 0.018 m3 &%= (2%2+0)*0. 023%0. 2
8 EHILRRANAE TAT7AMGREERN FEESIE SRR T =1 BerlE + I AN H=2%0. 7+0
BRI ABE 15emA R 2 40cmPA T % 1.400 m2
9 AREEREUELFHA BH0.20m3 AR T =1 BB + T A N =2%0. 7+0
SRR 10em L T ® 1.400 m2
10 ‘ER4EH] BHO0.20m3 JEHE] TH1=JE Fex g+ =2%0. T*1. 17
% 1.638 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
7% 0.350 m3 0.7%0.2%5
12 B R (kg ) BHO0.20m3 PR TUI=AE Exg*E=2%0. 7%0. 67
7yvar AR & 0.938 m3
13 ERHEE (B RE) BH0.20m3 IR 5 T U2=%E R #E1Z2=2%0. 7%0. 3
RC—40M R + &/ FE[E D & 0.420 m3
14 BRI (A AL BHO.20m3 HPR TUS=HE R ZR=2%0. T%0. 3
M—403 B2+ 2 /355 [E 6 7% 0.420 m3
15 EEERE (R R) BH0.20m3 RS T, (R - E530) =4E B A LxIEWasiZE A H+f5 Firsk=0. 5%
Iyay R % 0.350 m3 0.7%0.2%5
16 ERRHLE (AR 52) BHO.20m3 HRBPERR CRTRR i) =HE R T T A =—1%2%0. 022
7vvar AR & -0.044 m3
17 EEERFEIEWEE As BEAA ALy (PR HIER) =Rl i Rk & =1. 4%0. 2
7% 0.280 m3
18 TEFRFEIEME As BERT ALY (AR IR) =B Al S =1. 4%0. 1
% 0.140 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R /R X =1. 4%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.280 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTEM (A5 1R) =M fdi /. S =1. 4%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.140 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 - TEHR=H1 57 +H2 53 ik TR 4y (IS +llm) - 548 =1. 63
+# 1.0kmLL T DIDA 7% 1.988 m3 8+0+0.35+00
22 EfdE T (FEE-#JF) 5cm2)E (10cm) IS |H=FE FoHlig + I A N =2%0. 7+0
B+ T TA L & 1.400 m2
23 Af%ET (BE-HJE) 5cm2/E (10cm) AAE |H=E FHE+ I AR N H=2%0. 7+0
HEX 7+ FHHE D & 1.400 m2
24 BB T (HOE-HH) i8S 1 4moAR ARAE |H=FE FoHlg + A N B =2%0. 7+0
BHAREZELBRKEEMS 4 & 1.400 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[H 10251

MRAR1-2 - EP - &

HASDHL. 2%L0. 75 *W1. 0
J=3

NO b4,/ 3i#s -~k w g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=0. 75
® 150 1% 0.750 m
2 RYTFLLR)—THET A T=1=0. 75
é 150 % 0.750 m
3 R EWRT—T7 L B R T=1=0. 75
® 150 1% 0.750 m
4 B —MERT R LA0.75
% 0.750 m
5 A —h AR T=1=0. 75
150mm X 50m & 2fZ 410 iAFx ® 0.750 m
6 EWERRUEIMET T AT 7 MM SRR T =52 40 = R AR B I =0, 75%2+2
15emZ 8 2 30cmPA T " 3.500 m
7 BEERIGIRAL A TR K AL Bl = (Bl EEAE B A I+ A+ IR *0. 023%
7% 0.016 m3 EHEEE=(0. 75%2+2)*0. 023%0. 2
8 EHILRRANAE TAT7AMGREERN FEESIE SREER A T =1 BexlE + I AN =0, 75%1+0
BRI ABE 15emA R 2 40cmPA T % 0.750 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + T AN =0. 75%1+0
AHEEE10emPA T ® 0.750 m2
10 FRIEY TP HIGHKHY Y TH1=JE R+ ig*iae=0. 75%1%0. 588
A & 0.441 m3
11 EFK4EHE] BHO0.20m3 PE | TH2=%E K+l +i%8=0. 75%1%0. 882
% 0.662 m3
12 R OB RO O - #ehl it 1) Rz T T=ER=0.75
1.5m<HRHIE=<1.8m ~'v/rvs|tk ® 0.750 m
13 ERME (B RE) BH0.20m3 H B T U1 =4E S5 ZE=0. 75%1%0. 87
Iyay R 7% 0.653 m3
14 B RE (kg ) BH0.20m3 R TU2=FE g +3%8=0. 75%1%0. 1
RC-40H R + & L\ [ 6D & 0.075 m3
15 ERME (B RE) BH0.20m3 P B TUS=ZE FeslE#18=0. 75%1%0. 3
RC-40#L & + & 7 5 E 7% 0.225 m3
16 B R (kg ) BH0.20m3 IR T U4=FE R #ig+%2=0. 75%1%0. 3
M-40HE B + & S H [E o 7% 0.225 m3
17 EEERE BHER) BH0.20m3 PR RRAZERR (HaR ) =4t Fox & Wi Afi=—1%0. 75%0. 022
Iyay R 7% -0.017 m3
18 TEFRFEIEME As BER LS5 (BRAEINER) =TT AR X =0. 75%0. 2
% 0.150 m3
19  ERPEFEWALIL As BEA AL S5 (S 1R =Rl Ak i F 5 X =0. 75%0. 1
% 0.075 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERE My (PR HED) =i i+ < =0. 75%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.150 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (A5 1) =Rl F 5 & =0. 75%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.075 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RIH) — i 575=0. 44
+# 1.0kmEL T DIDH 7% 1.103 m3 1+0.662+0+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS 1B =JE S E+ I AR N H=0. 75%1+0
HEET+FHHTT7A45 & 0.750 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + I AE N A =0. 75%1+0
gL+ AT & 0.750 m2
25 LJERART (HOE- ) iR B AmA ARG IA=FEF g+ AN =0, 75%1+0
AR 2R (L B & 0.750 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

11 H

X 10301 H#1-3 GX ¢ 200 HI. 10 [ A Bl

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgEX 1.=L=10
6 200 1% 10.000 m
9 RYZFLLRAY—T BT B T=L=10
6 200 % 10.000 m
3 R EWRT—T7 L B R T=L=10
6 200 1% 10.000 m
4 Rk —MAR L IR L=L=10
% 10.000 m
5 A —h AR T=L=10
150mm X 50m & 2fZ 410 iAFx ® 10.000 m
6 EKEER BAHER=L=10
% 10.000 m
7 GHEERREINT T AT 7 VMR SRAEY) B T =525 9T B B« AR SN =10%2+0
15em%#8.2 30cm L T 1% 20.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.092 m3 &hEEE=(10%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AEERE A T =1 BB + T AN =10%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 6.000 m2
10 AHEEAREUELFSHA BH0.20m3 SRR A T =1 FexE +E AN H=10%0. 6+0
SEE10emPA T & 6.000 m2
11 EFK4EHE] BHO0.20m3 P THI=ZE R+ g +2=10%0. 6%1. 22
% 7.320 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.540 m3 0.6%0. 2%9
13 ERME (B RE) BH0.20m3 H B T U1 =4E 55 ZE=10%0. 6%0. 72
Iyay R 7% 4,320 m3
14 B RE (kg ) BH0.20m3 R TU2=E R #1ig+%2=10%0. 6%0. 3
RC-40H R + & L\ [ 6D & 1.800 m3
15 ‘ERMEE (B RE) BH0.20m3 P B T US=ZE FeslE#8=10%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 1.800 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LeiEWa*iZE A H+ & Fr#=0. 5%
7vvar AR & 0.540 m3 0.6%0.2%9
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o Wi Afi=— 1% 10%0. 038
Iyay R 7% -0.380 m3
18 TEFRFEIEME As BERA ALy (BEHITR) =Rl A i FEk /5 X =6%0. 2
% 1.200 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =i F 5 & =6%0. 1
% 0.600 m3
20 PEFSALVEEYEHE BHO0.20m3 DTr4t BEMA TE R (PR ANER) = A= X =6%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 1.200 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 5 X =6%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.600 m3
29 F&A3EHE BHO0.20m3 DTrdt T 1 ER=H1 45 +H2 45+ T4 45 B HA ) — 2545 =7, 32
+# 1.0kmEL T DIDH 7% 7.860 m3 +0+0.54+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS 1B =JE S E+ I AR I H=10%0. 6+0
HEET+FHHTT7A45 & 6.000 m2
24  EHEET (HE - FEJE) 5cm2/E (10cm) ARAE |H=1E FHlg + I AE N H=10%0. 6+0
gL+ AT & 6.000 m2
25 LJERART (HOE- ) iR B AmA ARG IA=AE S+ + RN 5=10%0. 6+0
AR 2R (L B & 6.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

12

X[ 10302 B&HR1-3 G X ¢ 200 H1. 10 rfE HaE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 SRSREAA R L A SR (B ) DIPAAgER 1.=L=8
6 200 1% 8.000 m
9 RYZFLLRAY—T BT EHiRT=1=8
6 200 % 8.000 m
3 #EE BT —7 L B/ RT=1-8
6 200 1% 8.000 m
4 Rk —MAR L AR T=1=8
% 8.000 m
5 A —h AR T=1=8
150mm X 50m & 2fZ 410 iAFx ® 8.000 m
6 IEKEER H/KERER=1=8
% 8.000 m
7 GHEERREINT T AT 7 VMR SHAEY) W T =525 9T B B« AR S+ N B =8%2+0
15emlL T 1% 16.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
% 0.018 m3 &hZE[E=(8%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =8%0. 6+0
SHEEIE10em LA T ® 4,800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + T A N H=8%0. 6+0
SEE10emPA T & 4.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*hE*=8%0. 6%1. 37
% 6.576 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.240 m3 0.6%0. 2%4
13 ERME (B RE) BH0.20m3 P B T U1=%E Rkl 78=8%0. 6%0. 72
Iyay R 7% 3.456 m3
14 B RE (kg ) BH0.20m3 R TU2=FE K #E+15E=8%0. 6%0. 4
RC-40H R + & L\ [ 6D & 1.920 m3
15 ERME (B RE) BH0.20m3 P B T U4=%E R sl 78=8%0. 6%0. 27
RC-40#L & + & 7 5 E 7% 1.296 m3
16 B RE (kg ) BH0.20m3 AT T (KPR - J50) =JE R A LxiEWa*iZE A H+ & FT#=0. 5%
7vvar AR & 0.240 m3 0.6%0.2%4
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4k o W i fi=— 1%8%0. 038
Iyay R 7% -0.304 m3
18 TEFRFEIEME As BEMALAS (HREIES) =R i f = & =4. 8+%0. 05
% 0.240 m3
19 EERBEIEMMEL As BEA ALy (S 1) =Rl i FEe IR X =4. 8%0. 03
% 0.144 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERE My (R D) =l i+ < =4. 8%0. 05
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.240 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (S 1) =Rl i FEe /R X =4. 8%0. 03
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.144 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) 5575 =6. 57
+# 1.0kmEL T DIDH % 6.816 m3 6+0+0.24+00
23 AREET (BEE-HJE) 3cml IS B =AE S IE + I AR N A =8%0. 6+0
BRI EEAs 74N 7% 4,800 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FHIlg + A TN =8%0. 6+0
HEBRIEAs 7 T7145 & 4.800 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

13

X[ 10303 B&#R1-3 G X ¢ 200 H1.55 WrfmE HaE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emPL T 1% 4,000 m
8 BRI IRL S T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
% 0.005 m3 &hTE[E=(2%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =2%0. 6+0
SHEEIE10em LA T ® 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*MEE=2%0. 6%1. 82
% 2.184 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.180 m3 0.6%0. 2%3
13 R T (RS R R A - Bk ) R T T=ERE=2
1.8m<HHHIE=2.0m ~'v/E&y5|$k e 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=2%0. 6%0. 72
Iyiay bR % 0.864 m3
15 ERME (B RE) BH0.20m3 P B T U2=%E FexliE #48=2%0. 6%0. 85
RC-40#L & + & 7 5 E 7% 1.020 m3
16 B R (kg ) BHO0.20m3 PR TU4A=FE R+ *%=2%0. 6%0. 27
RC-40H R + & L\ [ 6D & 0.324 m3
17 EEERE BHER) BH0.20m3 PR T ISR - JI55) =IE & A LxiEWasiZ A H 5 T 3k=0. 5%
Iyay R % 0.180 m3 0.6%0.2%3
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i Ff=—1%2%0. 038
Iyiay bR % -0.076 m3
19  ERPEFEWALIL As BEA ALy (R EIER) =Rl Fe /R X =1. 2%0. 05
% 0.060 m3
20 EERRFEEMMNER As BER LSy (A5 1) =Rk A FER IR X =1. 2%0. 03
% 0.036 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE HITA0) =R R /R X =1. 2%0. 05
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.060 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =1. 2%0. 03
As3lL - CoBll (4#4%) 1.0kn2L F DIDF & 0.036 m3
23 ZA+TERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) - 545 =2. 18
T# 1.0kmLL T DIDA 7% 2.364 m3 4+0+0. 18+00
24  EHZET (HEE-HJE) 3cnl/E IS |H=FE FHlg + I A TN L =2%0. 6+0
HEBRIEAs 7 T7145 & 1.200 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E S E+ I AR N H=2%0. 6+0
BRI EAs I 7% 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

14

X[ 10304 B&#R1-3 G X ¢ 200 H1.85 rifE HE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emlL T 1% 4,000 m
8 BRI IRL S T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
% 0.005 m3 &hTE[E=(2%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =2%0. 6+0
AHEEE10emPA T ® 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E Fx =250, 6%2. 12
% 2.544 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 R T (R R A - Bk ) A= T T=ERE=2
2.0m<HBHIZE=<2.3m Nv/F&us|Hk & 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=2%0. 6%0. 72
Iyiay bR % 0.864 m3
15 ERME (B RE) BH0.20m3 P B T U2=%E FexliE #48=2%0. 6%0. 85
RC-40#L & + & 7 5 E 7% 1.020 m3
16 B R (kg ) BHO0.20m3 R TUS=4E F#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
17 ERMEE (B RE) BH0.20m3 P B T U4=%E R sl 8=2%0. 6%0. 27
RC-40# & + & 7 5 E 7% 0.324 m3
18 B R (ki ) BHO0.20m3 AT (R - J50) =JE R A LeiEWa*iZE A H+ & FT#=0. 5%
7yvar AR R & 0.120 m3 0.6%0.2%2
19  EEERE BHER) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
Iyay R 7% -0.076 m3
20 FERRBEIEMALE As BEM ALy (HREIES) =R f = & =1. 2%0. 05
% 0.060 m3
21 EERRBEIEMNEE As BEA ALy (S 1) =Rl i Fe /R X =1. 2%0. 03
% 0.036 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERE My (PR HED) =i A+ /2 < =1. 2*0. 05
As3lL - CoBll (4#4%) 1.0kn2L F DIDF & 0.060 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =1. 2%0. 03
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.036 m3
24 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RI ) — 574 =2. 54
+# 1.0kmEL T DIDA % 2.664 m3 4+0+0. 12+00
25 EEET (BE-HJE) 3cmlfE IS B =AE S IE + I AR N =2%0. 6+0
BRI EAs I 7% 1.200 m2
26 EfiZE T (HE - JE) Sem 18 ARAE |H=FE FoHlg + A N A =2%0. 6+0
HEBRIEAs 7 T7145 *® 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

15

X[ 10305 PB&HR1-3 G X ¢ 200 H1.40 [Krif A HiE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emZ B 2.30cmlA T % 4.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
% 0.018 m3 &HZEE=(2%2+0)*0. 023*0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =2%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E FxMEE=2%0. 6%1. 47
% 1.764 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.180 m3 0.6%0. 2%3
13 R T (BRI A - Bk ) R T T=ERE=2
1L5m<#BHIE=<1.8m ~'v/ivs|k & 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=AE Exg*%E=2%0. 6%0. 67
Iyiay bR % 0.804 m3
15 ERME (B RE) BH0.20m3 PR B T U2=%E sl % 78=2%0. 6%0. 3
RC-40#L & + & 7 5 E 7% 0.360 m3
16 B R (kg ) BHO0.20m3 R TUS=4E F#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
17 ERME (B RE) BH0.20m3 P B T U4=%E R sl #28=2%0. 6%0. 3
M-40H & + 2> 55 [E 6 7% 0.360 m3
18 EISHE R (BRI &) BHO0.20m3 PREE T (kR0 - JEE50) =IE R A LxiEWasiZE A H+ {5 Frk=0. 5%
7yvar AR R & 0.180 m3 0.6%0.2%3
19  EEERE BHER) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
Iyay R 7% -0.076 m3
20 FERRBEIEMALE As BERA LSy (BEHITD) =Rl A Rk /S X =1. 2%0. 2
% 0.240 m3
21 EFRBEFEMALEE As B AL S5 (S 1R =Rl Ak F+ 5 X =1. 2%0. 1
% 0.120 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTE My (FRHIED) =i A+ R X =1. 2%0. 2
As3lL - CoBll (4#4%) 1.0kn2L F DIDF & 0.240 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
24 F&A3EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B HR ) 7% =1. 76
+# 1.0kmEL T DIDH 7% 1.944 m3 4+0+0. 18+00
25 Ef%ET (BE - HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N =2%0. 6+0
HEE7+FHHTT7145 & 1.200 m2
26 EfidE T (FEE - #J8) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N A =2%0. 6+0
gL+ AT *® 1.200 m2
27 LIRS T (HOE- ) iR B 1L 4mA ARG IA=HE S+ + RN 5=2+%0. 6+0
AR 2R (LB & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

16

X[ 10306 PB&HR1-3 G X ¢ 200 H1.55 [Krif A HiE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emZ B 2.30cmlA T % 4.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
% 0.018 m3 &HZEE=(2%2+0)*0. 023*0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =2%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E FxME4E=2%0. 6%1. 67
% 2.004 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 R T (RS R R A - Bk ) R T T=ERE=2
1.8m<HBHIE=<2.0m ~'v/ivs|k & 2.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=2%0. 6%0. 72
Iyiay bR % 0.864 m3
15 ERME (B RE) BH0.20m3 P B T U2=%E Rl 78=2%0. 6%0. 45
RC-40#L & + & 7 5 E 7% 0.540 m3
16 B R (kg ) BHO0.20m3 R TUS=4E F#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
17 ERME (B RE) BH0.20m3 P B T U4=%E R sl #28=2%0. 6%0. 3
M-40H & + 2> 55 [E 6 7% 0.360 m3
18 EISHE R (BRI &) BHO0.20m3 PREE T (kR0 - JEE50) =IE R A LxiEWasiZE A H+ {5 Frk=0. 5%
7yvar AR R & 0.120 m3 0.6%0.2%2
19  EEERE BHER) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
Iyay R 7% -0.076 m3
20 FERRBEIEMALE As BERA LSy (BEHITD) =Rl A Rk /S X =1. 2%0. 2
% 0.240 m3
21 EFRBEFEMALEE As B AL S5 (S 1R =Rl Ak F+ 5 X =1. 2%0. 1
% 0.120 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTE My (FRHIED) =i A+ R X =1. 2%0. 2
As3lL - CoBll (4#4%) 1.0kn2L F DIDF & 0.240 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
24 F&A3EHE BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B HRI ) — 3574 =2. 00
+# 1.0kmEL T DIDH 7% 2.124 m3 4+0+0. 12+00
25 Ef%ET (BE - HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N =2%0. 6+0
HEE7+FHHTT7145 & 1.200 m2
26 EfidE T (FEE - #J8) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N A =2%0. 6+0
gL+ AT *® 1.200 m2
27 LIRS T (HOE- ) iR B 1L 4mA ARG IA=HE S+ + RN 5=2+%0. 6+0
AR 2R (LB & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10307 BEHE1-3 GX ¢ 150 H1. 10 WrmB

17 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 SRSREAA R L A SR (B ) DIPAAgER 1.=L=8
6 150 1% 8.000 m
9 RYZFLLRAY—T BT EHiRT=1=8
$ 150 % 8.000 m
3 #EEE BT —7 L B/ RT=1-8
6 150 1% 8.000 m
4 Rk —MAR L AR T=1=8
% 8.000 m
b Amae—h R T=1=8
150mm X 50m & 2fZ 410 iAFx ® 8.000 m
6 IEKEER H/KERER=1=8
% 8.000 m
7 GHEERREINT T AT 7 VMR SHAEY) W T =525 9T B B« AR S+ N B =8%2+0
15em%#8.2 30cm L T 1% 16.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.074 m3 BEEE=(8%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =8%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 4,800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + T A N H=8%0. 6+0
SEE10emPA T & 4.800 m2
11 EFK4EHE] BHO0.20m3 PEHI CH1=ZE R+ E52=8%0. 6%1. 17
% 5.616 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.360 m3 0.6%0. 2%6
13 ERME (B RE) BH0.20m3 P B T U1=%E R sl #8=8%0. 6%0. 67
Iyay R 7% 3.216 m3
14 B RE (kg ) BH0.20m3 R TU2=4E - #IE*4E=8%0. 6%0. 3
RC-40H R + & L\ [ 6D & 1.440 m3
15 ‘ERMEE (B RE) BH0.20m3 P B T US=%E FxlE 78=8%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 1.440 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT#=0. 5%
7vvar AR & 0.360 m3 0.6%0.2%6
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4k oA W i fli=— 1%8%0. 022
Iyay R 7% -0.176 m3
18 TEFRFEIEME As BERA LSy (BRI =Rl i Rk /5 X =4. 8%0. 2
% 0.960 m3
19  ERPEFEWALIL As B AL S5 (S R =Rl Ak i F+ 5 X =4. 8%0. 1
% 0.480 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (FEHIED) =i mm A+ R X =4. 8%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.960 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (A5 1) =Rl F 5 & =4. 8%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.480 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=11 45 +H2 45+ 40 45 (B +RI ) — 5= 7%=5. 61
+# 1.0kmEL T DIDH 7% 5.976 m3 6+0+0. 36+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N A =8%0. 6+0
HEET+FHHTT7A45 & 4,800 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FHIlg + A TN =8%0. 6+0
gL+ AT & 4.800 m2
25 LJERART (HOE- ) iR B AmA A IA=HE S+ + [ RN 5=8%0. 6+0
A 2 ENEARN L LS & 4.800 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10308 B&HE1-3 G X ¢ 150 HO. 80 MWrmiB

18 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=3
® 150 1% 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
é 150 % 3.000 m
3 #EEE BT —7 L EU/RT=1=3
® 150 1% 3.000 m
4 Rk —MAR L B R T=1=3
% 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx ® 3.000 m
6 IEKEER E/KERER=1=3
% 3.000 m
7 GHEERREINT T AT 7 VMR SHAEY) W T =525 0T B B« ARSI B =3%2+0
15emZ B 2.30cmlA T % 6.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4R I+ AR+ I BRD) *0. 023%
% 0.028 m3 EEEE=(3%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =3%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + I AN H=3%0. 6+0
SEE10emPA T & 1.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*hE*4=3%0. 6%0. 87
% 1.566 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.120 m3 0.6%0. 2%2
13 ERME (B RE) BH0.20m3 PR B T U1=%E R sl 8=3%0. 6%0. 47
Iyay R 7% 0.846 m3
14 B RE (kg ) BH0.20m3 R TU2=4E F-#IE*4E=3%0. 6%0. 2
RC-40H R + & L\ [ 6D & 0.360 m3
15 ‘ERMEE (B RE) BH0.20m3 PR B T US=%E FeslE#78=3%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 0.540 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT4=0. 5%
7vvar AR & 0.120 m3 0.6%0.2%2
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o W i Al =— 1%3%0. 022
Iyay R 7% -0.066 m3
18 TEFRFEIEME As BERA LSy (BRI =Rl A i FEk /S X =1. 8%0. 2
% 0.360 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =Rl F 8 S =1. 8%0. 1
% 0.180 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (B HIED) = mm A+ R X =1. 8%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.360 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 X =1. 8%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.180 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 5574 =1. 56
+# 1.0kmEL T DIDH 7% 1.686 m3 6+0+0. 12+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) IS B =AE S IE + I AR N5 =3%0. 6+0
HEET+FHHTT7A45 & 1.800 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N =3%0. 6+0
gL+ AT & 1.800 m2
25 LJERART (HOE- ) iR B AmA A IA=HE S+ + [ RN 5=3+%0. 6+0
AR 2R (L B & 1.800 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10309 B&#E1-3 K¢ 150 HO. 80 [¥rHiB

19 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=3
® 150 1% 3.000 m
9 RYZFLLRAY—T BT EHRT=L=3
é 150 % 3.000 m
3 #EEE BT —7 L EU/RT=1=3
® 150 1% 3.000 m
4 Rk —MAR L B R T=1=3
% 3.000 m
5 A —h AR T=1=3
150mm X 50m & 2fZ 410 iAFx ® 3.000 m
6 IEKEER E/KERER=1=3
% 3.000 m
7 GHEERREINT T AT 7 VMR SHAEY) W T =525 0T B B« ARSI B =3%2+0
15emZ B 2.30cmlA T % 6.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4R I+ AR+ I BRD) *0. 023%
% 0.028 m3 EEEE=(3%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =3%0. 7+0
EXCIAEE  15emZ B2 40emPA T & 2.100 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BerlE + I AN HL=3%0. 7+0
SEE10emPA T & 2.100 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E F*mE*4=3%0. 7%0. 87
% 1.827 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.420 m3 0. 7%0. 2%6
13 ERME (B RE) BH0.20m3 P B T U1=%E Rkl 8=3%0. 7%0. 47
Iyay R 7% 0.987 m3
14 B RE (kg ) BH0.20m3 R TU2=4E - #EH4E=3%0. 7%0. 2
RC-40H R + & L\ [ 6D & 0.420 m3
15 ‘ERMEE (B RE) BH0.20m3 PR B T US=%E FeslE#78=3%0. 7%0. 3
M-40H & + 2o 5 [E 6 7% 0.630 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LeiEWa*iZE A H+ & FT4=0. 5%
7vvar AR & 0.420 m3 0.7%0.2%6
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o W i Al =— 1%3%0. 022
Iyay R 7% -0.066 m3
18 TEFRFEIEME As BERA LSy (BRI =Rl A i Rk S X =2, 1%0. 2
% 0.420 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =Rl Fe X =2. 1%0. 1
% 0.210 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (FRHIED) =i A+ R X =2. 1%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.420 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (A5 1) =Rl Fie X =2. 1%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.210 m3
29 F&A3EHE BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 B+ ) 2545 =1. 82
+# 1.0kmEL T DIDH 7% 2.247 w3 7+0+0. 42+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) A B =AE S E+ I AR N =3%0. 7+0
HEET+FHHTT7A45 & 2.100 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N =3%0. 7+0
gL+ AT & 2.100 m2
25 LJERART (HOE- ) iR B AmA A IA=HE S+ + RN 5=3%0. 7+0
AR 2R (L B & 2.100 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[H 10351

MRAR1-3 - EP - &

HAE@HL. 2%L0. 75 *W1. 0
J=3

NO b4,/ 3i#s -~k w g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=0. 75
6 150 1% 0.750 m
2 RIZFLLR)—THET HRH R L=1=0.75
$ 150 % 0.750 m
3 R EWRT—T7 L B R T=1=0. 75
6 150 1% 0.750 m
4 Rk —MAR L B 1=1=0. 75
% 0.750 m
5 A —h AR T=1=0. 75
150mm X 50m & 2fZ 410 iAFx ® 0.750 m
6 ERIERNUIT TA77MMEREERR SRR T =52 40 = R AR B I =0, 75%2+2
15emPA T " 3.500 m
7 BEERIGIRAL AL TR K AL Bl = (B EEAE B4 S+ A+ IR *0. 023%
7% 0.004 m3 EHEEE=(0. 75%2+2)%0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 EHEER A T =JE g+ AR N 5=0. 75%1+0
AREE10emPA T & 0.750 m2
9 EEERRPURLADA BHO.20m3 SR T=AE S g+ RN 5 =0. 76%1+0
SHEEIE10em LA T ® 0.750 m2
10 FRIEY TP HIGHKHY B TH1=E R+ ig*iae=0. 75%1%0. 648
A & 0.486 m3
11 EFK4EHE] BHO0.20m3 PE | TH2=%E K #lig+i%8=0. 75%1%0. 972
7% 0.729 m3
12 R OB RO O - #ehl it 1) Rz T T=ER=0.75
1Lom<MEHIE=1.8m ~'v/&v5|Hk ® 0.750 m
13 ERME (B RE) BH0.20m3 H B T U1 =4E S5 ZE=0. 75%1%0. 87
Iyay R 7% 0.653 m3
14 B RE (kg ) BH0.20m3 R TUS=AE R #ig*%2=0. 75%1%0. 5
RC-40H R + & L\ [ 6D & 0.375 m3
15 ERME (B RE) BH0.20m3 H B T UA=4E Ee 5% 7Z8=0. T5%1%0. 27
RC—40M R + & 7 FE[E D & 0.203 m3
16 B RE (kg ) BH0.20m3 R BEPERR GOk &) =4k Ko+ Wi ff=—1%0. 75%0. 022
Iyioay bR 7% -0.017 m3
17 EEERFEIEWEE As BERF ALy (BR A =k i AE* 8 X =0. 75%0. 05
7% 0.038 m3
18 TEFRFEIEME As BER LSy (A5 1) =ik A FEe 5. X =0. 75%0. 03
% 0.023 m3
19  PEREALFLEME BH0.20m3 DTr4t JBERA T (BE HIFAS) =i R /R X =0. 75%0. 05
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.038 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERA T (15 1) =il FEe 5 X =0. 75%0. 03
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.023 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 48
+# 1.0kmLL T DIDA 7% 1.215 m3 6+0.729+0+00
22 EiZE T (FE-HJE) 3cnl/E IAE B =FE FoHlE + I AE N =0. 75%1+0
HEBRIEAs T745 & 0.750 m2
23 EREET (BEE-HJE) SemlfE AAE IH=1E FHIg+ I AR INH=0. 75%1+0
FAEBRIEAs 744 7% 0.750 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10401 B&HR1-4 GX ¢ 200 HL. 10 Wrf A

21 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=2
6 200 1% 2.000 m
9 RYZFLLRAY—T BT EHiRT=L=2
6 200 % 2.000 m
3 #EE BT —7 L EW/RT=1=2
6 200 1% 2.000 m
4 Rk —MAR L R T=1=2
% 2.000 m
5 A —h AR T=1=2
150mm X 50m & 2fZ 410 iAFx ® 2.000 m
6 IEKEER E/KERER=L=2
% 2.000 m
7 GHEERREINT T AT 7 VMR SHAEY) B T =525 9L B B« ARSI B =2%2+0
15emZ B 2.30cmlA T % 4.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
% 0.018 m3 EZEE=(2%2+0)*0. 023%0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =2%0. 6+0
EXCIAEE  15emZ B2 40emPA T & 1.200 m2
10 EFEERNEUELFGA BHO0.20m3 SHEERE A T =1 BerlE + T AN HL=2%0. 6+0
SEE10emPA T & 1.200 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E FxMEE=2%0. 6%1. 22
% 1.464 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
" 0.180 m3 0.6%0. 2%3
13 ERME (B RE) BH0.20m3 PR B T U1=%E Rkl 8=2%0. 6%0. 72
Iyay R 7% 0.864 m3
14 B RE (kg ) BH0.20m3 R TU2=4E F-#E*4E=2%0. 6%0. 3
RC-40H R + & L\ [ 6D & 0.360 m3
15 ‘ERMEE (B RE) BH0.20m3 PR B T US=%E FeslE#78=2%0. 6%0. 3
M-40H & + 2o 5 [E 6 7% 0.360 m3
16 B RE (kg ) BH0.20m3 AT (KT - J50) =JE R A LeiEWa*iZE A H+ & FT#=0. 5%
7vvar AR & 0.180 m3 0.6%0.2%3
17 EEERE BHER) BH0.20m3 PR RAZERR CHTaR ) =4 o W i Al =— 1%2%0. 038
Iyay R 7% -0.076 m3
18 TEFRFEIEME As BERA LSy (BEHITD) =Rl A i FEk S X =1. 2%0. 2
% 0.240 m3
19 EERBEIEMMEL As BEA ALy (A5 1) =Rl Fe 8 S =1. 2+%0. 1
% 0.120 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE My (FRHIED) = mm A+ R X =1. 2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.240 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe 8 S =1. 2%0. 1
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.120 m3
29 F&A3EHE BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +A ) 5% =1. 46
+# 1.0kmEL T DIDH 7% 1.644 m3 4+0+0. 18+00
23 Af%ET (BE-HJE) 5cm2/E (10cm) A B =AE S IE + I AR N5 =2%0. 6+0
HEET+FHHTT7A45 & 1.200 m2
24  EiZET (FEE-#JF) 5cm2)E (10cm) ARAE |H=FE FoHlg + A N A =2%0. 6+0
gL+ AT & 1.200 m2
25 LJERART (HOE- ) iR B AmA ARG IA=HE S+ + RN 5i=2+0. 6+0
AR 2R (L B & 1.200 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10501 B&#R1-5 SSP ¢ 50 H1.00 [¥rmF

22 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg L=L=5
® 50 1% 5.000 m
2 B —MiRT EHARLAS
% 5.000 m
3 AT —b AR T=L=5
150mm X 50m & 262410 iA Fx ® 5.000 m
4 EHIERRUINT T AT 7 VMR SR G T T =52 4 = P8 A B I B =5%2+0
15emZ 8 2 30cmPA T " 10.000 m
5 BEERIGIRAL AL TR K LBl = (Bl EEAE B4 I+ AL+ IR *0. 023%
b 0.046 m3 EHEEE=(5%2+0)*0. 023%0. 2
6 EHIERRANAR TAT7AMGREERN REES IR SRR A T = FerE + T A N HL=5%0. 6+0
BRI ABE 15emA R 2 40cmPA T % 3.000 m2
7 AREEAREUELURDA BHO0.20m3 AL A T = BB + T A N =5%0. 6+0
AHEEE10emPA T ® 3.000 m2
8 FIHEHI BHO0.20m3 JEHI THI=AE FxE*E=5%0. 6%0. 95
% 2.850 m3
9 FHHEH| BHO0.20m3 R T G40 - JE30) =JE R A LafgEWasiZE A H+ & Frdk=0. 5%
% 0.180 m3 0.6%0.2%3
10 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=5%0. 6%0. 45
Iyioay bR % 1.350 m3
11 ERHEE (B E) BH0.20m3 P B T U2=4E 5+ JE=5%0. 6%0. 3
RC-40HL & + & 7 5 [E 7% 0.900 m3
12 B R (kg ) BHO0.20m3 R TUS=4E F#IE*4E=5%0. 6%0. 3
M-408R & + & o7 G [E D % 0.900 m3
13 EEERE (WHER) BH0.20m3 PR T G - I53) =JE B A LxlEWasiZe A Hx{& Frsk=0. 5%
Iyay R % 0.180 m3 0.6%0.2%3
14 EEEHERE (M R) BH0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i FE=—1%5%0. 002
Iyiay bR % -0.010 m3
15 EEERBEIEMMEL As BEAA ALy (B HIER) =Rl i Fk /R X =3%0. 2
% 0.600 m3
16 FERFEIEMLIE As BER LSy (AR 1) =Rl Fe R X =3%0. 1
% 0.300 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = i FEf /R X =3%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.600 m3
18 FPEBEALEELEME BH0.20m3 DTr4t BERTEM (15 1R) =i fdie /5 S =3%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.300 m3
19 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +ll ) — #5485 =2. 85
+# 1.0kmLL T DIDA 7% 3.030 m3 +0+0.18+00
20  EfidE T (FEE-#JF) 5cm2)E (10cm) IS |H=FE FHlg + I A TN L =5%0. 6+0
BT +FHTTA L & 3.000 m2
21 EfEET (BEE-HJE) 5cm2/E (10cm) AAE |H=1E FH g+ I AR N H=5%0. 6+0
B2 T+ AT & 3.000 m2
22 BB T (HOE-HIH) 18 S 1 4mAR RAE |H=FE FoHlig + A TN =5%0. 6+0
BHARTZELBRKEMS 4 & 3.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

23 H

X 10901 ZIED2. 0L*1. 0Wk1.6H D I P ¢ 200

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUIT TAT7V MRS ST T =52 A P e A I B =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fexg*i=2%1%0. 56
ANT] & 1.120 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E Fxig* =2 1%0. 84
% 1.680 m3
7 R (R R A - B ) SRR T T=ERE=2
1L5m<#BHIE=<1.8m ~'v/ivs|k & 2.000 m
8 BB (FEhE I ) BHO.20m3 MR TUL=4E i x4e=2%1%0. 4
Tyiay AR % 0.800 m3
9 EEKERE (WHIERE)BH0.20m3 IR 5 T U2=4E R *E+1E=2%1%0. 5
RC-40# & + & 7 5 [E 7% 1.000 m3
10 B R (kg ) BHO0.20m3 R TUS=4E R #IE4E=2% 1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
11 EEERE (R RE) BH0.20m3 PR 5T T U4=%E R # 8+ 1ZE=2%1%0. 3
M-40H B + &> S [E 6 7% 0.600 m3
12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Fo+ 48 Wi i Ff=—1%2%0. 038
Iyioay bR % -0.076 m3
13 ERRBEFEMALEL As BEAA ALy (R EIER) =Rl i Fe /R X =2%0. 2
% 0.400 m3
14 FERFEEMLI As B BER LSy (AR 1) =Rl F R X =20, 1
7% 0.200 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R FEf /R X =2%0. 2
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.400 m3
16 FPEBEALEELEME BH0.20m3 DTr4t BERTE M (18 1R) =i fdie . S =2%0. 1
AsBlL - CoBll (44%) 1.0kn2L F DIDF & 0.200 m3
17 FAE+5EME BHO0.20m3 DTr4t B - iEHR=H1 oy +H2 53 ik TR oy (IS +l i) - B4 =1. 12
T# 1.0kmLL T DIDA % 2.800 m3 +1.68+0+00
18 HfEET (HEE - #/H) Sem2)E (10cm) IAE B =E S g+ E A I =24 1+0
BT +FHTTA L & 2.000 m2
19 &f%E T (HEE-¥/H) 5cm2/E (10cm) AAE IH=IE F* g+ A I H=2%1+0
B2 T+ AT & 2.000 m2
20 LJEBRAE T (FIE-BSUE) 0E A1 AmAR AR |H=E Ko E+E A N =24 1+0
BHARSZEABRKEMS 4 EE & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[H 10902

AP @2. OL*1. OWx1. 4H A AHE

24

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A P e A I B =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 ERERREUELFA BH0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 ‘EHIEE] BHO0.20m3 PR THI=4E FxMEsE=2% 1%1. 2
1% 2.400 m3
6 B (Fh I ) BH0.20m3 PR TUL=4E i x4e=2%1%0. 4
Tyiay bR % 0.800 m3
7 ERMRE (BT R) BHO0.20m3 R 5 T U2=4E R *E+1ZE=2%1%0. 3
RC-40#L & + & 7 5 [E 7% 0.600 m3
8 BB (Fhg I ) BHO.20m3 MR TUS=4E erfigsife=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 IR 5T T U4=%E R #E+1ZE=2%1%0. 3
M-40H B + 2> 5 [E 6 7% 0.600 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi i ff=—1%2%0. 038
Iyioay bR % -0.076 m3
11 ERRBEFEWALEL As BEAA ALy (R EIER) =Rl i Fk /. X =2%0. 2
% 0.400 m3
12 FERPFEIEMLIE As BER LSy (AR 1) =Rl F R X =20, 1
% 0.200 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =Rl i FE /R X =2%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.400 m3
14 PEBEALEELEME BH0.20m3 DTrdt BERTE M (18 1R) =i flie /5 S =2%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.200 m3
15 A +5#EME BHO0.20m3 DTr4t B - R=H1 53 +H2 53 ik T AR o (IS +l i) -~ A48 =2. 4+
+# 1.0kmLL T DIDA % 2.400 m3 0+0+00
16 HfEET (HE-#/H) 5em2)E (10cm) A8 IE=FE S g+ E A I =24 1+0
B +FHTTA L & 2.000 m2
17 &f%E T (EE-#H) 5cm2/E (10cm) AAE IH=IE F* g+ A I H=2%1+0
HEA T+ AT & 2.000 m2
18 LI T (HIE - #F) #EE 1L AmART AR |H=E Ko E+E A N =24 1+0
BHARTZEABRKEMS 4 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

25

XM 10903 FAIEE2. 0L*x1. OW*1.4H HEE

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE ST T =52 A P e A I B =2%2+2
15emPL T 1% 6.000 m

2 AERREUEELFA BH0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
AHEEE10emPA T ® 2.000 m2

4 FRYEE] BHO0.20m3 JEHI THI=AE FexlE*E=2%1%1. 3

% 2.600 m3

5 ERMLRE (BT R) BHO0.20m3 PR B T U1=%E sl 78=2%150. 4
RC-40# & + & 7 5 [E 1% 0.800 m3

6 B (FEh I ) BHO.20m3 MR TU2=4E ol fe=2%1%0. 3
RC-40H R + & L\ [ 6D & 0.600 m3

7 ERMRE (BT R) BHO0.20m3 P B T US=ZE sl 78=2%1%0. 3
RC-40#L & + & 7 5 [E 1% 0.600 m3

8 BB (Fhg I ) BHO.20m3 MR T U4=AE Rerfigsfe=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3

9 EEKERE (WHIERE)BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
RC-40# & + & 7 5 [E % -0.076 m3

10 FERFEEMLIE As BER LSy (AR 1) =Rl R X =20, 1

% 0.200 m3

11 PEPRALFEERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 5 X =2%0. 1
AsHil- Codifl (#£5%) 1.0kmEA T DIDA ® 0.200 m3

12 FAE15EHE BH0.20m3 DTrat B B M=H1 50 +H2 o Hik T 88 0 (0 i) -Hi B =2. 6+
17 1.0kmEL F DIDA % 2.600 m3 0+0+00

13 &fidE T (HEE-¥H) 5cm2/E (10cm) IS 1B = F* g+ i A I =2+ 1+0
HEE7+FHHTT7A45 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

26

XM 10904 FAIE@2. OL*x1. OWk1.4H NTT

NO b4,/ 3i#s -~k B g HAL EHEKX

1 EHEERRGIT T A7y MR ST T =52 A P e A I B =2%2+2
15emPL T 1% 6.000 m

2 AERREUEELFA BH0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
AHEEE10emPA T ® 2.000 m2

4 FRYEE] BHO0.20m3 JEHI THI=AE FexlE*E=2%1%1. 3

% 2.600 m3

5 ERMLRE (BT R) BHO0.20m3 PR B T U1=%E sl 78=2%150. 4
RC-40HE & + &> 7 S5 [E D 1% 0.800 m3

6 B (FEh I ) BHO.20m3 MR TU2=4E ol fe=2%1%0. 3
RC-40H R + & L\ [ 6D & 0.600 m3

7 ERMRE (BT R) BHO0.20m3 P B T US=ZE sl 78=2%1%0. 3
RC-40HE 2 + &> 7 S5 [E D 1% 0.600 m3

8 BB (Fhg I ) BHO.20m3 MR T U4=AE Rerfigsfe=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3

9 EEKERE (WHIERE)BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
RC—40H & + &> 7 S5 [E D % -0.076 m3

10 FERFEEMLIE As BER LSy (AR 1) =Rl R X =20, 1

% 0.200 m3

11 PEPRALFEERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 5 X =2%0. 1
AsHil- Codifl (#£5%) 1.0kmEA T DIDA ® 0.200 m3

12 FAE15EHE BH0.20m3 DTrat B B M=H1 50 +H2 o Hik T 88 0 (0 i) -Hi B =2. 6+
17 1.0kmEL F DIDA % 2.600 m3 0+0+00

13 &fidE T (HEE-¥H) 5cm2/E (10cm) IS 1B = F* g+ i A I =2+ 1+0
HEE7+FHHTT7A45 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X 10905 ZHIEG2. 0OL*k1. 0Wx1.4H HFE ¢ 130

27 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fex*i=2%1%0. 48
ANT] & 0.960 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*E=2%1%0. 72
% 1.440 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E ol fe=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RZERR CHTRR &) =4 o8 W i F=— 1%2%0. 021
Iyay R 7% -0.042 m3
12 FERPFEIEMLIE As B BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
7% 0.400 m3
13 ERRBEFEMALEL As BEA AL S5 (IS R =R A i ik S & =250 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 96
+# 1.0kmEL T DIDH % 2.400 m3 +1.44+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
gL+ AT & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

28 H

X[E 10906 FHIEG2. 0OL*1.0Wk1.2H C I P ¢ 150

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE B =2+ 1%0. 4
ANT] & 0.800 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 -+ lE*12=2%1%0. 6
% 1.200 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 1% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Fofigs =2+ 150. 1
RC-40H R + & o\ [ 6D & 0.200 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R % -0.044 m3
12 FERPFEIEMLIE As B BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
7% 0.400 m3
13 ERRBEFEMALEL As M ALSY (4B 1R =Rl f e £ =2x%0. 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 FAE15EH BH0.20m3 DTrat B L EH=H1 53 +H2 53 Hik TR PR 43 (S +Hll ) — #5457 =0. 8+
17 1.0kmEL F DIDA % 2.000 m3 1.2+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
27+ A7 & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

29 H

X[ 10907 A2, 0L+1. 0Wx1.2H C 1 P - ¥

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE B =2+ 1%0. 4
ANT] & 0.800 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 -+ lE*12=2%1%0. 6
% 1.200 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 1% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Fofigs =2+ 150. 1
RC-40H R + & o\ [ 6D & 0.200 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R % -0.044 m3
12 FERPFEIEMLIE As B BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
7% 0.400 m3
13 ERRBEFEMALEL As M ALSY (4B 1R =Rl f e £ =2x%0. 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 FAE15EH BH0.20m3 DTrat B L EH=H1 53 +H2 53 Hik TR PR 43 (S +Hll ) — #5457 =0. 8+
17 1.0kmEL F DIDA % 2.000 m3 1.2+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
27+ A7 & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




+ TEHEHEE 30 =

(FEHT-18) Bl /K BB LH (R 7)
B 1 EOKEARR L

XM 10908 EXHE®2. 0Lx1. 0Wx1.0H HxE HHfT

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emPL T 1% 6.000 m

2 AERREUEELFA BH0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 HIERRIREELALA BHO.20m3 AEERE A T =1 BB + I AN =2%1+0
SEE 1 0em L T & 2.000 m2

4 FRYEE] BHO0.20m3 PR THI=2E -+l %2=2%150. 96

7% 1.920 m3

5 ERMLRE (BT R) BHO0.20m3 PR B T U1 =% sl 78=2%1%0. 6
RC-40# & + & 7 5 [E 7% 1.200 m3

6 E R (BhE 52) BHO.20m3 HRL5E TUS=IE s R=2%150. 1
RC-40HE & + # o it [E 6D & 0.200 m3

7 ERMRE (BT R) BHO0.20m3 R TU4A=JE BexE*E=2%1%0. 27
RC-40#L & + & 7 5 [E 7% 0.540 m3

8 BB (BRI ) BHO.20m3 PR BEPERR GOk &) =4k Ko+ Wi i fE=—1%2%0. 007
RC-40H R + & o\ [ 6D & -0.014 m3

9 EERBEIEMMIEL As BEA ALy (RS 1) =Rl A hi Rk X =2%0. 03

% 0.060 m3

10 PEBEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 IH) =T A+ 2 < =2%0. 03
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

11 ZAE+5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +l i) - B4 =1. 92
+4#> 1.0kmPA F DIDA ® 1.920 m3 +0+0+00

12 HEET (HE-KE)3al)E A8 |E=E S g+ E A I =24 1+0

HEBRIEAs T745 & 2.000 m2




+ TEHEHEE 31 ®H

(FEHT-18) Bl /K BB LH (R 7)
B 1 EOKEARR L

XM 10909 ZRIE@2. OL*1. OWx1. 0H HxE Mkl

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emPL T 1% 6.000 m

2 AERREUEELFA BH0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 HIERRIREELALA BHO.20m3 AEERE A T =1 BB + I AN =2%1+0
SEE 1 0em L T & 2.000 m2

4 FRYEE] BHO0.20m3 PR THI=2E -+l %2=2%150. 96

7% 1.920 m3

5 ERMLRE (BT R) BHO0.20m3 PR B T U1 =% sl 78=2%1%0. 6
RC-40# & + & 7 5 [E 7% 1.200 m3

6 E R (BhE 52) BHO.20m3 HRL5E TUS=IE s R=2%150. 1
RC-40HE & + # o it [E 6D & 0.200 m3

7 ERMRE (BT R) BHO0.20m3 R TU4A=JE BexE*E=2%1%0. 27
RC-40#L & + & 7 5 [E 7% 0.540 m3

8 BB (BRI ) BHO.20m3 PR BEPERR GOk &) =4k Ko+ Wi i fE=—1%2%0. 007
RC-40H R + & o\ [ 6D & -0.014 m3

9 EERBEIEMMIEL As BEA ALy (RS 1) =Rl A hi Rk X =2%0. 03

% 0.060 m3

10 PEBEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 IH) =T A+ 2 < =2%0. 03
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

11 ZAE+5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +l i) - B4 =1. 92
+4#> 1.0kmPA F DIDA ® 1.920 m3 +0+0+00

12 HEET (HE-KE)3al)E A8 |E=E S g+ E A I =24 1+0

HEBRIEAs T745 & 2.000 m2




T TEHEEARE

(FEHT-18) il /K B A e B L (5 7)
BEAR 1 Bl KB e L

32

X[ 10910 EHEA02. OL*1. OWx1.0H HxE B ARE

NO 4/ 3k ~HE B g HAL EHEKX

1 EHEERRGINT TA77 VM ERR SHAEY) W T =545 9T R B« AR S I =2%2+2
15ecmPL T 1% 6.000 m

2 ERLERNEUELAEA BHO0.20m3 SRR A T =1 BerE + I AN =2%1+0
AHIEE10emPA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
BHAEE10emPA T ® 2.000 m2

4 FRYEE] BHO0.20m3 JEHI THI=AE E-xE*E=2%1%0. 96

% 1.920 m3

5 ERMLRE (BT R) BHO0.20m3 PR B T U1 =% sl 78=2%1%0. 6
Iyay R 7% 1.200 m3

6 &I R (B ) BHO.20m3 HE B T US=4E kg *i42=2%1%0. 1
RC-40H R + & L\ [ 6D & 0.200 m3

7 ERIERE (B ) BHO.20m3 PR T Ud=E R # g+ E=2%1%0. 27
RC-40#L & + & 7 5 [E 7% 0.540 m3

8 BB (FEhE I ) BHO.20m3 PR BEPERR GOk &) =4k Ko+ Wi i fE=—1%2%0. 007
Tyiay AR % -0.014 m3

9 ERRBEIEMILIE As BEA AL S5 (S R =Rl Fix S & =250. 03

% 0.060 m3

10 PEBEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 IH) =T A+ 2 < =2%0. 03
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

11 ZAE+5#EME BHO0.20m3 DTr4t 7% E =1 53 +H2 43 Hilk T8 4y (S Hll ) — B =1. 92
+# 1.0kmLL T DIDA % 1.920 m3 +0+0+00

12 HEET (HE-KE)3al)E A8 |E=E S g+ E A I =24 1+0
HEBRIEAs T745 & 2.000 m2




T TEHEEARE

(FHT-18) Bl /KB A L5 (R 7)

BEAR 1 Bl KB e L

33

X 10911 ZHEAD2. OL*1. OWx1. 9H HAE ERRILFEE

NO 4/ 3k ~HE B g HAL EHEKX

1 BEERRUIET TAT77 0V MEEEERR AL U T =42 A R B oA - I B =2%2+2
15emPL T 1% 6.000 m

2 AERREUEELFA BH0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
HLEE 1 0cm P 1% 2.000 m2

4 FRYEE] BHO0.20m3 JEHI THI=AE Exlg*E=2%1*1. 84

7% 3.680 m3

5 BT (RS AL A - B 1) SRR T T=ERE=2
1.8m<HBHIE=<2.0m ~'v/ivs|k & 2.000 m

6 IR (B E) BHO.20m3 B T UL =4 * g 1E=2%1%0. 75
RC-40HE & + # o it [E 6D & 1.500 m3

7 ERMRE (BT R) BHO0.20m3 R TU2=4E BexE*E=2%1%0. 45
RC-40#L & + & 7 5 [E 7% 0.900 m3

] &R (B ) BHO.20m3 HE B T US=4E g 742=2%1%0. 4
RC-40H R + & o\ [ 6D & 0.800 m3

9 EEKERE (WHIERE)BH0.20m3 R TU4=JE BexE*E=2%1%0. 27
RC-40# & + & 7 5 [E 7% 0.540 m3

10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi i ff=—1%2%0. 038
RC-40H R + & o\ [ 6D & -0.076 m3

11 EERBEIEMMEL As BEA ALy (AE 1) =Rl ri Rk X =2%0. 03

% 0.060 m3

12 PEREALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

13 F/AE+5EME BHO0.20m3 DTr4t 7 A E =153 +H2 23 Hik T8 4y (S +HAll ) — iS4 =3. 68
+4#> 1.0kmPA F DIDA ® 3.680 m3 +0+0+00

14 HET (HE-KF)3ml)E IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T74L & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

34

X[ 10912 ERAE@2. OL*1. OWx1. 9H HxE  AKEKES

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) W T =545 9T R B« AR S I =2%2+2
15ecmPL T 1% 6.000 m

2 ERLERNEUELAEA BHO0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
AHEEE10emPA T ® 2.000 m2

4 FRYEE] BHO0.20m3 JEHI THI=AE ExE*E=2%1%1. 87

% 3.740 m3

5 BT (RS AL A - B 1) SRR T T=ERE=2
1.8m<#HHIE=2.0m ~'v/&y5|$k & 2.000 m

6 B (FEh I ) BHO.20m3 PR TUL=4E i x4e=2%1%0. 4
RC-40H R + & L\ [ 6D & 0.800 m3

7 ERMRE (BT R) BHO0.20m3 P B T U2=%E sl Z8=2%150. 8
RC-40#L & + & 7 5 [E 7% 1.600 m3

8 BB (Fhg I ) BHO.20m3 PR T US=HIE i x4e=2%1%0. 4
RC-40H R + & o\ [ 6D & 0.800 m3

9 EEME (B R) BH0.20m3 PR B T U4=%E sl Z8=2%150. 27
RC-40# & + & 7 5 [E 7% 0.540 m3

10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k Ko+ Wi i ff=—1%2%0. 038
RC-40H R + & o\ [ 6D & -0.076 m3

11 ERRBEFEWALEL As BEA ALy (AE 1) =Rl ri Rk X =2%0. 03

% 0.060 m3

12 PEREALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T AR 4y (IS +l ) -~ 545 =3. 74
+# 1.0kmLL T DIDA % 3.740 m3 +0+0+00

14 HET (HE-KF)3ml)E IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T74L & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

3% H

XM 10913 ZIEA2. OL*1. OW+1. 9H  FEIE /K K

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 EIHEEI] BHO0.20m3 PR THI=AE Fox@sig=2%1%1. 7
1% 3.400 m3
6 R T OB SR - B 1) SRR TR T=4ERE=2
L.8m<HRHIE=<2.0m »'v/rvs|tk " 2.000 m
7 ERMRE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
RC-40#L & + & 7 5 [E 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E i x4e=2%10. 8
RC-40H R + & o\ [ 6D & 1.600 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R RE) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 038
RC-40HL & + & 7 5 [E 7% -0.076 m3
12 FERPFEIEMLIE As BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
% 0.400 m3
13 ERRBEFEMALEL As M ALSY (4B 1R =Rl f e £ =2x%0. 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 FAE15EH BH0.20m3 DTrat B L ERR=H1 53 +H2 53 Hik TR PR 4 (S Hll ) —Hi 58 =3. 4+
17 1.0kmEL F DIDA % 3.400 m3 0+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
27+ A7 & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

36 H

X 10914 ZIEE@2. 0L*1. 0Wx1.2H C I P ¢ 100

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE B =2+ 1%0. 4
ANT] & 0.800 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 -+ lE*12=2%1%0. 6
% 1.200 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 1% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Fofigs =2+ 150. 1
RC-40H R + & o\ [ 6D & 0.200 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTRR &) =4 Fox 8 Wi F=—1%2%0. 011
Iyay R % -0.022 m3
12 FERPFEIEMLIE As B BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
7% 0.400 m3
13 ERRBEFEMALEL As M ALSY (4B 1R =Rl f e £ =2x%0. 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 FAE15EH BH0.20m3 DTrat B L EH=H1 53 +H2 53 Hik TR PR 43 (S +Hll ) — #5457 =0. 8+
17 1.0kmEL F DIDA % 2.000 m3 1.2+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
27+ A7 & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[# 10915

AIE2. 0L*1. OWk1. 2H R L — R

37

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A P e A I B =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 ERERREUELFA BH0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 ‘EHIEE] BHO0.20m3 R THI =4 g8 =2% 1% 1
1% 2.000 m3
6 B (Fh I ) BH0.20m3 PR TUL=4E i x4e=2%1%0. 4
Tyiay bR % 0.800 m3
7 ERMRE (BT R) BHO0.20m3 IR B T U2=4E R # I+ 1ZE=2%1%0. 1
RC-40#L & + & 7 5 [E 7% 0.200 m3
8 BB (Fhg I ) BHO.20m3 MR TUS=4E erfigsife=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 IR 5T T U4=%E R #E+1ZE=2%1%0. 3
M-40HR R + &/ [ o 7% 0.600 m3
10 B R (kg ) BHO0.20m3 PR PERR GOk &) =4E Ko+ Wi i FE=—1%2%0. 002
Iyioay bR % -0.004 m3
11 ERRBEFEWALEL As BEAA ALy (R EIER) =Rl i Fk /. X =2%0. 2
% 0.400 m3
12 FERPFEIEMLIE As BER LSy (AR 1) =Rl F R X =20, 1
% 0.200 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =Rl i FE /R X =2%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.400 m3
14 PEBEALEELEME BH0.20m3 DTrdt BERTE M (18 1R) =i flie /5 S =2%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.200 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T AR 4y (IS +l i) — i 54 =2+0+
18 1.0kmLL T DIDA % 2.000 m3 0+00
16 HfEET (HE-#/H) 5em2)E (10cm) A8 IE=FE S g+ E A I =24 1+0
B +FHTTA L & 2.000 m2
17 &f%E T (EE-#H) 5cm2/E (10cm) AAE IH=IE F* g+ A I H=2%1+0
HEA T+ AT & 2.000 m2
18 LI T (HIE - #F) #EE 1L AmART AR |H=E Ko E+E A N =24 1+0
BHARTZEABRKEMS 4 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10916 FRA$EA92. OL*1. OW«1.4H NTT

38 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fex*i=2%1%0. 48
ANT] & 0.960 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*E=2%1%0. 72
% 1.440 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E ol fe=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R 7% -0.044 m3
12 FERPFEIEMLIE As BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
% 0.400 m3
13 ERRBEFEMALEL As BEA AL S5 (IS R =R A i ik S & =250 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 96
+# 1.0kmEL T DIDH % 2.400 m3 +1.44+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
gL+ AT & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10917 ZIEAD2. OL*k1. OWx1. 4H HFE ¢ 130

39 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fex*i=2%1%0. 48
ANT] & 0.960 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*E=2%1%0. 72
% 1.440 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1=%E sl Z8=2%150. 4
Iyay R 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E ol fe=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl #78=2%1%0. 3
RC-40# & + & 7 5 [E 7% 0.600 m3
10 B R (kg ) BHO0.20m3 R TUA=SE Fo*IEE=2%1%0. 3
M-40 & + & > 7 S5 [E o % 0.600 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R 7% -0.044 m3
12 FERPFEIEMLIE As B BERA LSy (BEHITR) =Rk A i FEk /5 X =2%0. 2
7% 0.400 m3
13 ERRBEFEMALEL As BEA AL S5 (IS R =R A i ik S & =250 1
% 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PRI =i i+ S =2%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.400 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 8 X =2%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.200 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 96
+# 1.0kmEL T DIDH % 2.400 m3 +1.44+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS 1H =1 Fo* g+ i A I =2 1+0
HEX7+FHHTTA5 & 2.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A N =24 1+0
gL+ AT & 2.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE IH=IE F* g+ A I H=2%1+0
FHAVRE 2R (LB % 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

X[E 10918 #A#E@2. OL*+1. OW*1. 1H HFE

40 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A P e A I B =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fexg*i=2%1%0. 36
ANT] & 0.720 m3
6 ‘FIHEE] BHO0.20m3 PRI T H2= 7 o fif #2=2%1%0. 54
% 1.080 m3
7 ERMERE (BT R) BHO0.20m3 IR B T U =3 e li@«ZE=2%1%0. 4
Iyay R 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TUS=4E erfigsife=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 IR 5T T U4=%E R #E+1ZE=2%1%0. 3
M-40H B + 2> 5 [E 6 7% 0.600 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L K48 Wi i FE=—1%2%0. 022
Iyioay bR % -0.044 m3
11 EERBEIEMMEL As BEAA ALy (R EIER) =Rl i Fk /. X =2%0. 2
% 0.400 m3
12 FEERBEEEMALER As B BER LSy (AR 1) =Rl F R X =20, 1
7% 0.200 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =Rl i FE /R X =2%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.400 m3
14 PEBEALEELEME BH0.20m3 DTrdt BERTE M (18 1R) =i flie /5 S =2%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.200 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 72
+# 1.0kmLL T DIDA 7% 1.800 m3 +1.08+0+00
16 Af%E T (HEE - #5) 5em2/E (10cm) A8 IE=FE S g+ E A I =24 1+0
B +FHTTA L & 2.000 m2
17 &f%E T (EE-#H) 5cm2/E (10cm) AAE IH=IE F* g+ A I H=2%1+0
HEX 7+ FHHE D & 2.000 m2
18 BT (HOE-BH) 15 B 1 4mAR AR |H=E Ko E+E A N =24 1+0
BHARTZEABRKEMS 4 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

XM 10919 #AHEA92. OL*+1. OWx1. 1H & ¢ 100

41 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A P e A I B =2%2+2
15emZ B 2.30cmlA T 1% 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
% 0.028 m3 AHIEE=(2%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + I AN =2%1+0
EXCIAEE 15emZ B2 40emPA T & 2.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BerE + I AN =2%1+0
SREE10emPA T & 2.000 m2
5 KEEY b BUREKHY PR THI=AE Fexg*i=2%1%0. 36
ANT] & 0.720 m3
6 ‘FIHEE] BHO0.20m3 PRI T H2= 7 o fif #2=2%1%0. 54
% 1.080 m3
7 ERMERE (BT R) BHO0.20m3 IR B T U =3 e li@«ZE=2%1%0. 4
Iyay R 7% 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR TUS=4E erfigsife=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3
9 EEKERE (WHIERE)BH0.20m3 IR 5T T U4=%E R #E+1ZE=2%1%0. 3
M-40H B + 2> 5 [E 6 7% 0.600 m3
10 & EHR (Mhi s 5Y) BHO.20ms3 BB CRTa ) =HE Fo g T I A =— 1%2%0. 01
Iyioay bR % -0.020 m3
11 EERBEIEMMEL As BEAA ALy (R EIER) =Rl i Fk /. X =2%0. 2
% 0.400 m3
12 FEERBEEEMALER As B BER LSy (AR 1) =Rl F R X =20, 1
7% 0.200 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =Rl i FE /R X =2%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 0.400 m3
14 PEBEALEELEME BH0.20m3 DTrdt BERTE M (18 1R) =i flie /5 S =2%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.200 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 72
+# 1.0kmLL T DIDA 7% 1.800 m3 +1.08+0+00
16 Af%E T (HEE - #5) 5em2/E (10cm) A8 IE=FE S g+ E A I =24 1+0
B +FHTTA L & 2.000 m2
17 &f%E T (EE-#H) 5cm2/E (10cm) AAE IH=IE F* g+ A I H=2%1+0
HEX 7+ FHHE D & 2.000 m2
18 BT (HOE-BH) 15 B 1 4mAR AR |H=E Ko E+E A N =24 1+0
BHARTZEABRKEMS 4 & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

Fepr 1 BlKEAMR L

42

XM 10920 FRIRQ)2. OL*1. 0Wx1.2H DIP ¢ 1504%1E

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) W T =545 9T R B« AR S I =2%2+2
15emPL T 1% 6.000 m

2 ERLERNEUELAEA BHO0.20m3 SRR A T =1 BerE + I AN =2%1+0
SEE10em LA T & 2.000 m2

3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
AHEEE10emPA T ® 2.000 m2

4RIV T BIGHKISHY JEHE] TH1=JE Fx g+ ZE=2%1%0. 468
A & 0.936 m3

5 EIHEEI] BHO0.20m3 PR HI TH2=4E Fo* Mg +4E=2% 1%0. 702

1% 1.404 m3

6 B (Fh I ) BH0.20m3 PR TUL=4E i x4e=2%1%0. 4
Tyiay bR % 0.800 m3

7 ERMRE (BT R) BHO0.20m3 P B T U2=%E sl % 48=2%150. 2
RC-40#L & + & 7 5 [E 7% 0.400 m3

8 BB (Fhg I ) BHO.20m3 MR TUS=4E erfigsife=2%1%0. 3
RC-40H R + & o\ [ 6D & 0.600 m3

9 EEME (B R) BH0.20m3 PR B T U4=%E sl Z8=2%150. 27
RC-40# & + & 7 5 [E 7% 0.540 m3

10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L K48 Wi i FE=—1%2%0. 022
Iyioay bR % -0.044 m3

11 ERRBEFEWALEL As BEA ALy (AE 1) =Rl ri Rk X =2%0. 03

% 0.060 m3

12 PEREALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 1.0kn2L F DIDF & 0.060 m3

13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +llm) — #5485 =0. 93
+# 1.0kmLL T DIDA % 2.340 m3 6+1.404+0+00

14 HET (HE-KF)3ml)E IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T74L & 2.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

BEAR 1 AR KB AR T

X[# 10320 BEHR1-3  #57KPP ¢ 20

43 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L s ToL=1
1% 4,000 m
2 FEET—b R T=L=4
150mm X 50m,// % 25 Hr0IAF» 1’ 4.000 m
3 GHEERREINT T AT 7 VM ST T =52 A P e A - I B =4%2+0
15emZ B 2.30cmA T % 8.000 m
4 BEFRI5IRAL SR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
% 0.037 m3 AHEEE=(4%2+0)*0. 023*0. 2
5 EREERRAAR TAT7IVMEREERR e A AEERE A T = BB + T A N =4%0. 6+0
EXCIAEE  15emZ B2 40emA T & 2.400 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN H =40, 6+0
AREE10emPA T & 2.400 m2
7 EWIEE] BHO0.20m3 PR THI=4E FxmE*=4%0. 6%0. 93
1% 2.232 m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Forfigsfe=4%0. 6%0. 43
Tyiay AR % 1.032 m3
9 EEME (B R) BH0.20m3 R 5 T U2=%E R #E122=4%0. 6%0. 3
RC-40# & + & 7 5 [E 7% 0.720 m3
10 B R (kg ) BHO0.20m3 R TUS=4E F#IE*4E=4%0. 6%0. 3
M-408R & + & o 7 S [E D % 0.720 m3
11 EEERE R R) BH0.20m3 RGN GHTRR 4 ) =4 = +48 B i F=—1%4%0. 001
Iyay R 7% -0.004 m3
12 EERBEEMALE As BERA LSy (BRI =Rl A Rk /R X =2. 4%0. 2
% 0.480 m3
13 ERRBEFEMALEL As B AL S5 (S 1R =Rl Ak F+ . X =2. 4%0. 1
% 0.240 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERA T (PR I =l Rk /5 X =2. 4%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.480 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe X =2. 4%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.240 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) i34 =2. 23
+# 1.0kmEL T DIDH % 2.232 m3 2+0+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS IH=AE S IE + I AR N =4%0. 6+0
HEX7+FHHTTA5 & 2.400 m2
18 EffE T (HIE-¥JE) 5em2/& (10cm) ARAE |H=FE FoHlig + I A N B =4%0. 6+0
27+ A7 & 2.400 m2
19 LEER T (HOE-BH) 0521 4m A AAE |H=1E FH g+ I AR N H=4%0. 6+0
FHAVRE 2R (LB % 2.400 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

BEAR 1 AR KB AR T

X[# 10325 BEHR1-3 FA7KPP ¢ 25

4  H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L s ToL=1
1% 4,000 m
2 FEET—b R T=L=4
150mm X 50m,// % 25 Hr0IAF» 1’ 4.000 m
3 GHEERREINT T AT 7 VM ST T =52 A P e A - I B =4%2+0
15emZ B 2.30cmA T % 8.000 m
4 BEFRI5IRAL SR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
% 0.037 m3 AHEEE=(4%2+0)*0. 023*0. 2
5 EREERRAAR TAT7IVMEREERR e A AEERE A T = BB + T A N =4%0. 6+0
EXCIAEE  15emZ B2 40emA T & 2.400 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN H =40, 6+0
AREE10emPA T & 2.400 m2
7 EWIEE] BHO0.20m3 PR THI=4E FxmE*=4%0. 6%0. 93
1% 2.232 m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Forfigsfe=4%0. 6%0. 43
Tyiay AR % 1.032 m3
9 EEME (B R) BH0.20m3 R 5 T U2=%E R #E122=4%0. 6%0. 3
RC-40# & + & 7 5 [E 7% 0.720 m3
10 B R (kg ) BHO0.20m3 R TUS=4E F#IE*4E=4%0. 6%0. 3
M-408R & + & o 7 S [E D % 0.720 m3
11 EEERE R R) BH0.20m3 RGN GHTRR 4 ) =4 = +48 B i F=—1%4%0. 001
Iyay R 7% -0.004 m3
12 EERBEEMALE As BERA LSy (BRI =Rl A Rk /R X =2. 4%0. 2
% 0.480 m3
13 ERRBEFEMALEL As B AL S5 (S 1R =Rl Ak F+ . X =2. 4%0. 1
% 0.240 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERA T (PR I =l Rk /5 X =2. 4%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.480 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe X =2. 4%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.240 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HA ) i34 =2. 23
+# 1.0kmEL T DIDH % 2.232 m3 2+0+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS IH=AE S IE + I AR N =4%0. 6+0
HEX7+FHHTTA5 & 2.400 m2
18 EffE T (HIE-¥JE) 5em2/& (10cm) ARAE |H=FE FoHlig + I A N B =4%0. 6+0
27+ A7 & 2.400 m2
19 LEER T (HOE-BH) 0521 4m A AAE |H=1E FH g+ I AR N H=4%0. 6+0
FHAVRE 2R (LB % 2.400 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

BEAR 1 AR KB AR T

XM 10350 £WN+T. L2.0+W0.5+HO0.5

45 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 BEEERT—h R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT 2 )—Mal2ERR LGN T=IE B AREL - =2%2+0. 5
15ecmlL T )= 4,500 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.010 m3 &E%EE=(2%2+0.5)*0. 023%0. 1
5 GEERRANA: av ) MERR BEESML AEERE A T = BB + T A N =2%0. 6+0
BEXEVABE 15emPL T B 1.200 m2
6 ERLERNEUELAA BHO0.20m3 SRR T =1 BerlE + T AN H=2%0. 6+0
EAEE10emLA T B 1.200 m2
7 RHEY T BSEIRHY PR THI=AE Fexg*i=2%0. 6%0. 4
ANTJ 5 0.480 m3
8 HERL JGHIKIHY L PR T UL =JE R EsiE=25%0. 6%0. 47
fri[E O ML Ve 0.564 m3
9 HEL BEHHY b PR 2R R (GHTRR &) =4I Fox 8 W i F=— 1%2%0. 001
FEE O ML b -0.002 m3
10 EEHRFEEWOHE T Co BERA LSy (R E TR =il f+ 5 X =1. 2%0. 1
)= 0.120 m3
11 ARRBEFTEWALIE As FEM LSS (RAE IR =l e Fie /5 £ =1. 2%0. 03
)= 0.036 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERAE M (RS = s+ S =1. 2*0. 1
AsBlL - CoBll (44%) 1.0kn2L F DIDF P 0.120 m3
13 PEPRALFERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl i Fe /R X =1. 2%0. 03
AsHil - Coifl (E5%) 1.0kmEA T DIDA & 0.036 m3
14 384 15EME BHO0.20m3 DTrdt T B R=T1 45 +H2 45+ T4 45 (B +A ) 5574 =0. 48
17 1.0kmEL T DIDA g 0.480 m3 +0+0+00
15 & T (H5E) 3eml & IS A =AE S IE + I AR N 5 =2%0. 6+0
FAEBRIEAs 744 )= 1.200 m2




T TEHEEARE

(FHT-18) Bl /KB A L5 (R 7)

B 2 BERREME L

XM 20101 f#Z=DIP ¢ 100

H1.20 L=15.0m

46 H

NO 4/ 3k ~HE B g HAL EHEKX
1 EHEERRGINT TAT7AMEERR SRAEY) B T =525 4T B B« ARSI =15%2+0
15em%#8.2 30cm L 1% 30.000 m
2 BRI IRAL SRR T 7K AL B = (BEE AE 4 I+ AL+ I BRD) *0. 023%
% 0.138 m3 &hZE[E=(15%2+0)*0. 023%0. 2
3 EEEERRAERE TA77VMEEAERR PR AEERE A T =1 BB + T AN =15%0. 6+0
EXCIAEE 15emZ B2 40emPA T b 9.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H=15%0. 6+0
SREE10emPA T & 9.000 m2
5 EIHEEI] BHO0.20m3 PRH CHI=3E e+ iE4e=15%0. 6%1. 12
1% 10. 080 m3
6 ‘FIHEE] BHO0.20m3 JEHIFERR () =4 B+ Wik Af=—1%15%0. 011
% -0.165 m3
7 ERMRE (BT R) BHO0.20m3 PR TUL=HE RexE#E=15%0. 6+0. 52
RC-40#L & + & 7 5 [E 7% 4.680 m3
8 EIHEERE (MR E) BH0.20m3 PR B T U2=4E - *1E#18=15%0. 6%0. 1
RC-40H R + & o\ [ 6D & 0.900 m3
9 EEKERE (WHIERE)BH0.20m3 MR TU3=AE R+ E*R=15%0. 6%0. 3
RC-40# & + & 7 5 [E 7% 2.700 m3
10 &R sk MR 5) BHO.20m3 P T U4=4E Fsligxe=15%0. 6%0. 3
M-40HE B + & S Hf[E 8 % 2.700 m3
11 EEERE R RE) BH0.20m3 PR RAZERR CHTRR ) =4 Fox & Wi f=— 1% 15%0. 011
RC-40HL & + & 7 5 [E 7% -0.165 m3
12 EERBEEMALE As BERA LSy (BEHITR) =Rl A i FEk /5. X =9%0. 2
% 1.800 m3
13 EEERBEIEMMEL As BEA ALy (A5 1) =Rl F 5 & =9%0. 1
% 0.900 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERFE My (PR D) =l i+ X =9%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 1.800 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (A8 1) =Rl F 5 X =9%0. 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.900 m3
16 ZFATEH: BHO0.20m3 DTrdt T B HR=H1 4> +H245 +{k IR 4 (B +RIT) —Hi32%%=10. 0
+# 1.0kmEL T DIDH 7% 9.915 m3 8+0+0+0-0. 165
17 AH%ET (HEE-¥E) 5em2/E (10cm) IS 1B =1L FH g+ I AR N 5H=15%0. 6+0
HEX7+FHHTTA5 & 9.000 m2
18 AfEE T (HEE - ¥/5) 5em2/E (10cm) ARAE |H=FE FoHlE + I AE N B =15%0. 6+0
gL+ AT & 9.000 m2
19 LEER T (HOE-BH) 0521 4m A A IH=HE S+ + T R IN5=15%0. 6+0
/RS 2 EEEARN L LS & 9.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

B 2 BERREME L

47  H

XfH 20102 #H(EDIP ¢ 150  H1.20 L=25.0m
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =2 = PR R AN B =25%2-+0
15em%#8.2 30cm L 1% 50.000 m
2 BRI IRAL SRS T 7K AL B = (Bl S AE 40 I+ AL+ I BRD) *0. 023%
% 0.230 m3 &hEE[E=(25%2+0)*0. 023%0. 2
3 EMAERRAAR TAT7VMEREERR e A AEERE A T = BB + I A N =25%0. 6+0
EXCIAEE 15emZ B2 40emPA T & 15.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 B & + I AN HL=25%0. 6+0
SREE10emPA T & 15.000 m2
5 ‘EHIEE] BHO0.20m3 PR THI=ZE F+ g+ E=25%0. 6%1. 17
1% 17.550 m3
6 ‘FIHEE] BHO0.20m3 JEHIFERR () =4 Fox & Wik A= 1%25%0. 022
% -0.550 m3
7 ERIERE (B ) BHO.20m3 P T U1 =4 sligsiie=25%0. 6%0. 67
RC-40#L & + & 7 5 [E 7% 10. 050 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Forfigx42=25%0. 6%0. 3
RC-40H R + & o\ [ 6D & 4,500 m3
9 EEME (B R) BH0.20m3 P 5 T US=4E o sliEisife=25%0. 6%0. 3
M-40H B + 2> 5 [E 6 7% 4.500 m3
10 B R (kg ) BHO0.20m3 PR B PERR GOk &) =1L Ko+ Wi i Ff=—1%25%0. 022
RC-40H R + & o\ [ 6D & -0.550 m3
11 ERRBEFEWALEL As BEAA ALy (PR EIER) =Rl i Fie /R X =15%0. 2
% 3.000 m3
12 EERBEEMALE As BERT ALY (AR IR) =i i A+ X =15%0. 1
% 1.500 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =R A FE /R X =15%0. 2
AsHil - Coifl (E5%) 1.0kmEA T DIDA ® 3.000 m3
14 PEBEALEELEME BH0.20m3 DTrdt BEREM (18 1R) =i A2 X =15%0. 1
As3lL - CoBll (44%) 1.0kn2L F DIDF & 1.500 m3
15 A +5#EME BHO0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 548 =17. 5
+# 1.0kmLL T DIDA 7% 17.000 m3 5+0+0+0-0.55
16 Af%E T (HEE - #5) 5em2/E (10cm) IAE 1B =FE FHiig + I AR TN B =25%0. 6+0
B +FHTTA L & 15.000 m2
17 &f%E T (EE-#H) 5cm2/E (10cm) AAE |H=1E FH g+ I AR I H=25%0. 6+0
HEX 7+ FHHE D ® 15. 000 m2
18 BT (HOE-BH) 15 B 1 4mAR A I =HE S+ T RN FE=25%0. 6+0
BHARTZEABRKEMS 4 & 15.000 m2




T TEHEEARE

(FEHT-18) Bl /K BB LH (R 7)

B 2 BERREME L

X[E 20110 Zp7kkelks  CIP ¢ 150

48 H

H1.50 L2.0%xW2.0

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SRAED) B =545 AT B PR H A« AR SN =2%2+4
15emZ B 2.30cmlA T 1% 8.000 m
2 BRI IRAL SRR T 7K AL B = (BlEE AE 4 I+ AR+ I BRD) *0. 023%
% 0.037 m3 AHEEE=(2%2+4)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB + T I =2%2+0
EXCIAEE 15emZ B2 40emPA T & 4.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 FerE + T AN =2%2+0
SREE10emPA T & 4.000 m2
5 KEEY b BUREKHY PR THI=AE B *i=2%2%0. 52
ANT] & 2.080 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*E=2%2%0. 78
% 3.120 m3
7 ERMERE (BT R) BHO0.20m3 PR B T U1 =% sl 78=2%25%0. 4
Iyay R 7% 1.600 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E i x{4e=2%2%0. 4
RC-40H R + & o\ [ 6D & 1.600 m3
9 EEKERE (WHIERE)BH0.20m3 P B T US=ZE sl 48=2%250. 3
RC-40# & + & 7 5 [E 7% 1.200 m3
10 B R (kg ) BHO0.20m3 R TUA=SE R #IEHE=2%2%0. 3
M-40 & + & > 7 S5 [E o % 1.200 m3
11 EEERE R R) BH0.20m3 PR RAZERR (GHTaR ) =4 o W i Al =— 1%2%0. 022
Iyay R 7% -0.044 m3
12 FERPFEIEMLIE As BERA LSy (BEHITR) =Rl A i Rk /5 X =4%0. 2
% 0.800 m3
13 ERRBEFEMALEL As BEM AL S5 (S R =R A i ik S & =40 1
% 0.400 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (R D) =i i+ S =4%0. 2
As3lL - CoBll (44%) 1.0kn2L F DIDF & 0.800 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl F 5 & =40, 1
AsHil - Coifl (£5%) 1.0kmPA T DIDA ® 0.400 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +A ) 554 =2. 08
+# 1.0kmEL T DIDH % 5.200 m3 +3.12+0+00
17 &f%E T (EE-#E) 5ecm2/E (10cm) IS IH =1 F* g+ i A I i=2%2+0
HEX7+FHHTTA5 & 4.000 m2
18 HfEE T (HEE - #/H) S5em2)E (10cm) AR |H=E Ko E+E A I R =2%2+0
gL+ AT & 4.000 m2
19 LEER T (HOE-BH) 0521 4m A AAE |H=IE Ko g+ i A I Ri=2%2+0
FHAVRE 2R (LB % 4.000 m2




